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FAUS2esl 2 12,416 15,520 A3,104
307 @I2t01 & 12,416 15,520 A3,104
02 LB MAHEE 12,416 15,520 23,104
OFAEZSStN 2
12,416,000 *13] 12,416
=23t Q2sSd 29 6,800 8,500 21,700
307 elzto| & 6.800 8,500 A1,700
02 2IZHBHAIHE £ 6,800 8,500 1,700
OCIEstSZd F=9 Ay
6,800,000& 12 6,800
23 E=HMAMA 8,000 10,000 A2,000
307 @I2t01 & 8,000 10,000 /2,000
04 QIZHHAMAIH 2 £ 8,000 10,000 22,000
OFF23Hd d=HMAUHA
8,000,000& 12 8,000
ASEX 54,000 60,000 26,000
= 27,000
Al 27,000
307 elztol & 54,000 60,000 26,000
= 27,000
Al 27,000
04 QIHHAIAIH 2 £ 54,000 60,000 26,000
OAS=EA 54,000,000& 12 54,000
=S 27,000
Al 27,000




M 2s0l=1
g 2slls &8
&el: 2tol=AL X3 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
fad HNAFS23H 36,000 40,000 24,000
= 18,000
Al 18,000
307 el2to| & 36,000 40,000 24,000
= 18,000
Al 18,000
04 QIHHAMAIH 2 £ 36,000 40,000 24,000
ORad HARSESHA
36,000,000 *13] 36,000
== 18,000
Al 18,000
ME 23t stitg 18,000 20,000 22,000
= 9,000
Al 9,000
307 elztol & 18,000 20,000 22,000
= 9,000
Al 9,000
04 QIHHAMAIH 2 £ 18,000 20,000 A2,000
oz =3t eiteg 18,000,000& 12 18,000
=S 9,000
Al 9,000
sH= 2 2= 8,000 8,000
307 lztol & 8,000 8,000
04 QIZHHANAIS 2 X 8,000 8,000
OsH= 2 2atA 8,000,000& 12} 8,000
PN HEZSEMNY EHZNE 8,000 0 8,000
307 elztol & 8,000 8,000
04 CIZHHAMAIH 2 & 8,000 8,000
OR4H HEZ2FNA 2EZNE
8,000,000& 12 8,000
OI2AH I Liso JEtZS0i=H 32,400 36,000 A3,600
== 16,200
Al 16,200
307 212+01& 32,400 36,000 23,600
< 16,200
Al 16,200
04 QIZHHAMAIRH 2 & 32,400 36,000 A3,600
OO0IZA Y Li=2l 4EH230I=H
32,400,000& x13] 32,400
= 16,200
Al 16,200
HUHAA EcI&A 19,400 19,400 0
307 @12t01 & 19,400 19,400
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 22,500
307 gl2tol & 45,000 45,000 0
=S 22,500
Al 22,500
04 QIZHHAMAIH 2 £ 45,000 45,000 0
(CEISESEE ] 45,000,000 *13] 45,000
& 22,500
Al 22,500
d= Fad 3% 2232 28,170 31,300 23,130
= 9,000
Al 19,170
307 el2tol & 28,170 31,300 A3,130
= 9,000
Al 19,170
04 QIRHHAMAIH 2 £ 28,170 31,300 A3,130
Od= HaHE 82 332
28,170,000 x13] 28,170
< 9,000
Al 19,170
AlRIDt Stlote AMESE 34,536 43,170 A8,634
307 lztol & 34,536 43,170 28,634
04 QIZHHAMAIH 2 & 34,536 43,170 N8,634
OAI2I SHchs AES2
34,536,000 x12] 34,536
AI2IE gHoke JIES<%el 39,576 49,470 A9,8%4
307 @120l & 39,576 49,470 A9,8%4
04 QIZHHAMAIH 2 £ 39,576 49,470 29,894
OAlglDt iists JtS8<al
39,576,000 *13] 39,576
wE=0l 31,040 38,800 AT,760
307 elztol & 31,040 38,800 AT,760
04 QIZHHAMAIRH 2 X 31,040 38,800 NT,760
oMsE=0l 31,040,000& 12 31,040
lEsal 24,820 31,040 26,220
307 el2to| & 24,820 31,040 26,220
04 QIZHHAIAIH 2 £ 24,820 31,040 26,220
(O =R ) 24,820,000& 12 24,820
HON S &ItR 32,000 32,000
307 21201 & 32,000 32,000
04 QIZIHAIAIH E X 32,000 32,000
OHN &t 32,000,000 *13] 32,000
N23to = AL 32,300 32,300 0
= 32,300
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A 2=

M 2til=
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H0
e
O

telr 2stols & N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 212+01& 310,828 306,000 4,828
05 2IZtAE = 310,828 306,000 4,828
OFF=E3Y 29 127,176,000 127,176
OxX=zs2y 29 183,652,000 183,652
401 AIZHIX S0 11,000 22,169 A11,169
01 AlZH| 11,000 22,169 A11,169
O&X=3te & 2+ £X 11,000
O=2lz2tet 8,000,000& 8,000
ORIzt 3,000,000& 3,000
= SUIM WS u2HE AE 48,000 0 48,000
= 24,000
< 7,200
Al 16,800
402 QI2F X201 & 48,000 0 48,000
= 24,000
s 7,200
Al 16,800
02 I EASEZ(0IETHR) 48,000 0 48,000
OSEAI W SLESHE A8
48,000,000 48,000
= 24,000
=S 7,200
Al 16,800
Sstitg |4 13,239,750 17,852,636 A4,612,886
= 315,000
< 441,000
Al 12,483,750
ZstatA =S 346,990 745,620 398,630
= 18,000
Al 328,990
HAl SR =4 301,710 601,900 300,190
201 Ler=23| 1,710 1,900 A190
01 At2teltl 1,710 1,900 A190
OYNBIAY B2 U HE
1,900, 0002 *90% 1,710
308 AtXIEHMSOIE 300,000 600,000 300,000
13 S [2SOHe & EAS A 300,000 600,000 A.300,000
odd=2shnt 245t =8
300,000,000 300,000
StRAESZ EctitHel 29 9,280 30,000 AN20,720
201 er23| 9,280 10,000 AT20
2 35234l 9,280 10,000 AT20




SN 2shol2 D
Hu: 2siMe! 24
=t 2t sy (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSz2i0t J2l BIIE (24, BREY)
60,0021 5 7H A+ 122 490 3,240
Qe Hel attsE 3 (E+)
100, 0004 *1JH A 46290 540
Ocz2i0t Hel |xz 5,500, 0002 5,500
S22 0|22 BH5 A 36,000 40,000 74,000
< 18,000
A 18,000
307 £1210/ A 36,000 40,000 74,000
< 18,000
A 18,000
02 BIIPAAREE 36,000 40,000 24,000
O2H DL BH XA
9,000,002 #47H A 36,000
= 18,000
A 18,000
S30[8 AL BE 3,210,000 2,656,200 553,800
2 315,000
= 423,000
A 2,472,000
ARD Do 245 XE 12,000 15,000 3,000
402 BIRITH=0IE 12,000 15,000 3,000
01 BIRIXFE AL B R (RHHITHR) 12,000 15,000 3,000
OAADBABIYI (ALH &)X
12,000, 0002 12,000
AFEY EBRUE TR 630,000 2.200 627.800
2 315,000
< 63,000
A 252,000
401 AlZHIZ=HY) 630,000 0 630,000
2 315,000
= 63,000
A 252,000
02 Zelt] 630,000 0 630,000
OAFY EIRRE TR 22l
630,000, 0002 630,000
2 315,000
= 63,000
A 252,000
XieDlere =el=22(01 2T 1,260,000 1,260,000 0
< 360,000
A 900,000
308 X EHHISOI & 1,260,000 1,260,000 0
< 360,000




M 201
BH: 25M B4
&2l 23IEE AlE &S (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 900,000
183 S| 2SO ZB XA AIE 1,260,000 1,260,000 0
OXgoere ZH=I |0t 29
1,260,000,000& 1,260,000
== 360,000
Al 900,000
el 23 243 730,000 800,000 A70,000
308 XtXIEMSO0IE 730,000 800,000 A70,000
18 SIS0t 4 A AS A 730,000 800,000 70,000
Oos®R&E1 243 730,000,000 730,000
== CtiotEE 29 400,000 350,000 50,000
308 AXIHS0IA 400,000 350,000 50,000
183 S| 2SO &HAEAIE 400,000 350,000 50,000
O2 =S CECtiOtES 23]
400,000,000& 400,000
= &9 Stlilsns HE 2= 48,000 60,000 A12,000
308 AHXIHMS0IA 48,000 60,000 212,000
13 S [2S0tHet 4 A AS A 48,000 60,000 A12,000
OIE NASHUSDE B A
48,000,000 48,000
F3IBAIE 2tel 60,000 69,000 29,000
401 AIEHIX SO 60,000 60,000 0
01 AlZH| 60,000 60,000 0
O=2DIEAIE 72+ 60,000,000 60,000
STHEIUS FEELSA 70,000 0 70,000
401 AIEHIZ SR THYI 70,000 70,000
01 AlZ8| 65,500 65,500
OSFEIUS FXEELSA 65,500
O&AIE I 5,500,000& 5,500
O3 A 60,000,000& 60,000
02 Zaltl 4,500 0 4,500
OSRHIAUS FEELSA 2l
4,500,000 4,500
A=FHEREHN d & 23 5,373,400 5,022,000 361,400
FFEHERMEHA 2 22,000 22,000 0
207 AR 22,000 22,000 0
01 HESHI 22,000 22,000 0
OFFAIZHAAUENE HEEIt EF
22,000,000 22,000
BFAZ2ATUENE EAH3 4,920,000 5,000,000 80,000
306 £= 4,920,000 5,000,000 80,000
01 8d= 4,920,000 5,000,000 80,000




1

Sl
Eshty =
FFFHZ23 | =8 & 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CEENEENERENEIETE
4,920,000,000& 4,920,000
FHHSAMHEA 2 431,400 431,400
308 AHAIEMSOIE 431,400 431,400
18 SIS0t HAS A 431,400 431,400
OFHIHEHI & SEFIUE 28 2
cl 431,400,000& 431,400
SH=2et=d 4,309,360 9,428,816 A5,119,456
H=Z0iH] SHAF Z=HI(XEA) 291,000 6,000,000 A5,709,000
307 ¢l 291,000 6,000,000 /5,709,000
02 2l 291,000 6,000,000 /5,709,000
02025 BFS0HlAd =bl
291,000,000& 291,000
200,000 200,000
I 200,000 200,000
02 2B YAIHE A 200,000 200,000
02024 BEHEDOIHAEIY £
200,000,000 200,000
st=E02 23 1,250,000 1,250,000 0
308 XXM SOIA 1,250,000 1,250,000
13 S [2S0tHet 4 A AS A 1,250,000 1,250,000
o= A2 1,250,000,000& 1,250,000
SHEAAH 2 2,085,160 2,178,816 A\93,656
201 Ler23| 2,085,160 1,956,816 128,344
2 s5=34l 2,085,160 1,956,816 128,344
O30S AH 29 22|
7,500 %22, 224 m' x 123 2,000, 160
O30ZHAH A E
76,000,000 76,000
OZ0SclAE ANE=E RAES
10,000,000 *90% 9,000
EFI0EAXZHH 2 (SHAEXY) 60,000 60,000
308 AXIMSO0IA 60,000 60,000
18 SIS0t HAS A 60,000 60,000
OFFSUHERANAME 29
60,000,000& 60,000
AFSUHERANEME 2 398,000 0 398,000
308 AHXIHMSO0IA 314,000 314,000
13 S [2S0He 4 A AS A 314,000 314,000
OFFSUEAXAHE 2g
314,000,000 314,000
405 AHaHE = 84,000 84,000
01 MMM ESFSHI 84,000 84,000




2A: 2o
BH: 25M B4
el SHESES EEREE
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OBFBUZENNAME S2IBY JIXH 7
2 84,000
Oo2=zcls 8,900,000 »1CH 8,900
ORelE&=2D] it Clojotee &3 NE
9,000,000& 9,000
O=0IZ=& Ed0p|
22,000,000 3 «1CH 22,000
ORel MZ2I 10,000,000 10,000
OJt=8l Iol= 200,000& * 1504 3,000
O&E mol= 1,000,000 14 1,000
OAUAER} 2tX| ABHCHE THOIZ
765,000 24 1,530
OctXl & mol= 484,000 44 1,936
OAEdI0IE HE 24,5002 1504 368
OJ1=8 HE 17,0003 *90H 153
OctXl & HE| 360,000 *24 720
OA=2 AEGE HE| 529,000 24 1,058
OAUAER} 2tX HE 776,0002 x 101 776
Ol =M 1,128,000 *1CH 1,128
ool &3 NE 792,000 *3SET 2,376
OBE=x 8& 562,000 & *1J4 562
O =& 247,000 24 494
Osel == X 484,000 * 14 484
Ot JterAl 1,800,000 14 1,800
OHEEFR 785,000 & * 104 785
Oz Y=l 663,000 * 14 663
OHIOI&E & 1ol = 862,000 * 14 862
OAHY 2E 440,000 * 14 440
O3g 590,000 * 104 590
oz 740,000 & * 104 740
OHEZE X 670,000 =34 2,010
OEIA 230,000 & *54 1,150
ONHE M| 330,000 14 330
O==2 ™| 360,000 14 360
OHISel EED| 320,000 =24 640
ogd ™eh| 540,000 * 1K 540
Od ™EED| 320,000 *24 640
Og=D| 370,000 =44 1,480
OFH 260,000 *57H 1,300
OZHI0IE = 300,000 & =14 300
OEt2els-28 &0l
580,000 *30H 1,740
OCHHI Cholor2s & D]
600,000 *2H 1,200




SA: 2st0le
M 230 |4
el SHESES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O¢l CHolor2s &EH)
715,000 %104 715
OE2IN AEE EX 115,000 *20H 230
FolTAl HESA It ZH| 25,200 25,200
201 Yer2 Y| 24,000 24,000
01 AR 2:2IH 24,000 24,000
OFQTAl It AHA =y 14,000
OKEA =y 9,000,000 9,000
OLEXZ(Ze|ME0IM) M=
2,000,000 2,000
ogioz 50,0002 *2004*33] 3,000
OFOITAl F=AIC X239 4+¢
100,0002 %152 x2A| 223 6,000
ORUIAD st=2d3(X2ns, AR A2
2 500,000 2 *435| 4,000
202 01t 1,200 1,200
01 ZLHOIHI 1,200 1,200
OFOITAl HERT 3/9, #AIRAS S
0,0002 *2%*103] 1,200
HY2AZHI(23 0= D) 44,598 56,592 A11,99
=3 44,58 56,59 A11,9%
Jl=3H| 44,58 56,59 A11,9%
201 YEr2 Y| 21,318 24,192 2,874
01 AR 2:2/H 21,318 24,192 2,874
OJ1=2YR+HESHH (OI1FEZHI)
450,0002419% 8,550
OZ2HI(OIEZI)
8,0002*19%»7Ux 122 12,768
202 04| 13,680 22,800 29,120
01 =LHOIHI 13,680 22,800 29,120
Ooidl(D1E&YI)
20,0002+ 19 *32 x 122 13,680
203 PR FAH| 9,600 9,600
01 DRI Y2 FXIY| 6,000 6,000
OIIFEH(43) 6,000,0002 6,000
M PARIALFTY| 3,600 3,600 0
©J1ZFA(209! 0I3}) 300,00024* 12 3,600




0243 20ilat e 2ettsd ~ U2
A 2t
HY: ME25 BE L WD
Cel: 23 EE2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S 15,974,705 18,965,659 2,990,954
= 7,247,787
Jl 87,028
= 2,817,139
Al 5,822,751
HEE3 2 & ds 15,898,485 18,880,075 A2,981,590
= 7,247,787
) 87,028
= 2,817,139
Al 5,746,531
S 2&2el 10,651,960 14,188,300 3,536,340
= 5,811,687
[ 1,919,561
Al 2,920,712
2DISESEAN 24THI(6.58H ZADIZE 2EH 90,000 0 90,000
el)
= 45,000
< 22,500
Al 22,500
401 Al HIZL S 0HYI 90,000 0 90,000
= 45,000
=S 22,500
Al 22,500
01 AlZ28| 90,000 0 90,000
06.25. 1% 2ADIZS BEHL
90,000,000 90,000
= 45,000
S 22,500
Al 22,500
2VINE 2 EFHI(¥F D22l 0= x=ot01¥al 41,600 37,200 4,400
1)
= 29,120
=S 6,240
Al 6,240
401 AIEHIZ SR THYI 41,600 37,200 4,400
= 29,120
= 6,240
Al 6,240
01 AlZ2H| 41,600 37,200 4,400
©neel NE(3s, 264.9m) EIt0IF Dl
41,600,000 41,600
= 29,120
= 6,240
Al 6,240
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Cel: 23 EE2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2OINHSS 24THI(FF Aoy +25H & 65,000 65,000 0
ol=)
= 45,500
[ 9,750
Al 9,750
401 Al HIZL 201 65,000 65,000 0
= 45,500
== 9,780
Al 9,750
01 Al&HI 65,000 65,000 0
OB NIMY +2TH U 01X
65,000,000 65,000
= 45,500
s 9,780
Al 9,750
2VINE 2N S+FH(ASSNEZ EXHY) 3,234,810 5,840,000 A2,605,190
= 2,264,367
=S 485,221
Al 485,222
401 AIEHIZ SR 0HYI 3,234,810 5,840,000 A2,605,190
= 2,264,367
= 485,221
Al 485,222
01 A28l 3,234,810 5,840,000 A2,605,190
OAZEDET EXNY AP Deas
3,234,810,000& 3,234,810
= 2,264,367
= 485,221
Al 485,222
DN B4Z0(BF =S £4 +254) 65,000 65,000 0
% =)
= 45,500
= 9,750
Al 9,750
401 Al HIZ S OHbI 65,000 65,000 0
= 45,500
= 9,750
Al 9,780
01 Al&H| 65,000 65,000 0
OHZE Y2SEH +2TY L HE
65,000,000 65,000
= 45,500
= 9,750
Al 9,780
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Cel: 23 EE2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,100
=S 450
Al 450
2N E 2 EFHI(S52l SUHS ¥ Sl 2 20,000 20,000 0
PSR XR)
= 14,000
s 3,000
Al 3,000
401 AIEHIZ SR OHYI 20,000 20,000 0
= 14,000
= 3,000
Al 3,000
01 A28l 20,000 20,000 0
OFHIIEE E=KE (3= SUR)
10,000,000& 10,000
= 7,000
= 1,500
Al 1,500
OFAIIEE EIE (SNl SLULUR)
10,000,000 10,000
= 7,000
= 1,500
Al 1,500
DINYSSH B4THI(HF A SZ2LT 22 1,500,000 0 1,500,000
Ab 2E)
= 1,050,000
=S 225,000
Al 225,000
402 2I2FXH=201& 1,500,000 0 1,500,000
= 1,050,000
= 225,000
Al 225,000
02 QI X2 AL E R (01X THE) 1,500,000 0 1,500,000
OFF St AX24T 2elA A8
1,500,000,000& 1,500,000
= 1,050,000
= 225,000
Al 225,000
SN2 E4+8H(FF dEitd ST 8 640,000 0 640,000
=)
=2 448,000
< 9,000
Al 96,000
401 AIEHIX 20HH 640,000 0 640,000
= 448,000




A 2t
HY: ME25 BE L WD
Cel: 23 EE2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 96,000
Al 96,000
01 Al&H| 624,000 624,000
OBF MY BB E5
624,000,000& 624,000
= 436,800
< 93,600
Al 93,600
02 Zeltl 16,000 16,000
OBF Mgy DEUTM 55 L2I8
6,000,000& 16,000
= 11,200
S 2,400
Al 2,400
DINTSEY SLTUI(FF A HHSH F8 ) 160,000 160,000
=AE &X ¥ FHI)
= 105,000
= 22,500
Al 22,500
401 Al HIZ 2018 150,000 150,000
= 105,000
== 22,500
Al 22,500
01 Al&H| 150,000 150,000
OHZ QLA LISH X8 AL MX| ¥
e=Jull 150,000,000 150,000
= 105,000
& 22,500
Al 22,500
N2 E4+TH(FF FSsSEL st 56,000 56,000
2 SEtel Fl)
= 39,200
< 8,400
Al 8,400
401 Al HIZL 01| 56,000 56,000
= 39,200
== 8,400
Al 8,400
01 Al&HI 56,000 56,000
O+ I=SEY 3t ) & =62 8
Bl 56,000,000 56,000
= 39,200
== 8,400
Al 8,400




A S
HY: ME25 BE L WD
Cel: 23 EE2e EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
SXNEESM 2+=FH| 886,000 2,769,000 1,883,000
= 443,000
Al 443,000
401 AlZHIZ S 0HbI 886,000 2,579,000 21,693,000
= 443,000
Al 443,000
01 AlIZHI 881,000 2,557,000 21,676,000
OHE =&Y FHFY
100,000,000 100,000
S 50,000
Al 50,000
OBF MSILA AEYl BEHE
30,000,000& 30,000
== 15,000
Al 15,000
OHZE BN P4 U FoEY)
180,000,000 180,000
S 90,000
Al 90,000
O&F= MEe =HE 200,000,000 200,000
= 100,000
Al 100,000
OEF AEAY FoiEY|
46,000,000 46,000
S 23,000
Al 23,000
OBE AN 24 HETL
100,000,000& 100,000
= 50,000
Al 50,000
OHT 204 BA AE U AsE
10,000,000 10,000
S 5,000
Al 5,000
onF 8Z3 Hg NZEe
215,000,000 215,000
= 107,500
Al 107,500
02 Zeltl 5,000 22,000 A17,000
OFF= 8433 8¢ NSE+
5,000,000& 5,000
S 2,500
Al 2,500
EXNE23HH =IH014 D] 124,000 110,000 14,000
= 62,000




S
HESS HE Y S
E3 2&212 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 62,000
401 AIEHIX 20 124,000 110,000 14,000
=S 62,000
Al 62,000
01 AlZ8| 124,000 110,000 14,000
OZXHEZ3HH Z=IH0IL (B A-E=HT]
28I, 2Fe2l Db, &2l 1t
124,000,000 124,000
[ 62,000
Al 62,000
tERAE 2| 335,400 450,400 115,000
401 Al HIZ 2018 335,400 370,400 235,000
01 Al&H| 335,400 370,400 /35,000
OgERA e &1
1,700,000 * 129K 2= 20,400
OEERH 2= 350,000,000 *90% 315,000
FESEE IAMSE LAY 20,000 20,000
401 Al HIZL S 0HYI 20,000 20,000
01 Al&HI 20,000 20,000
Od=S B4 AASE &AA=
20,000,000 20,000
FEEN drusa HE 3,048,000 2,242,000 806,000
= 1,524,000
= 457,200
Al 1,066,800
401 Al HIZL 201 3,048,000 2,242,000 806,000
= 1,524,000
< 457,200
Al 1,066,800
01 Al&H| 2,898,000 2,242,000 656,000
ORE2a drus2 AE
2,898,000,000& 2,898,000
= 1,449,000
== 434,700
Al 1,014,300
02 Zeltl 150,000 0 150,000
ORI HaDID HY L2IBS
150,000,000 150,000
= 75,000
& 22,500
Al 52,500
= B LA 10,000 20,000 10,000
207 ARl 10,000 20,000 10,000
01 H1ESH| 10,000 20,000 10,000




A 2t
HY: ME25 BE L WD
Cel: 23 EE2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFF s YHEAHEED)
10,000,000 10,000
Olchrat 2& & 28 17,150 31,400 A 14,250
201 er=23y| 13,250 27,500 A14,250
01 AtR2t2|HI 13,250 27,500 A14,250
Olldi=4 82 28 2,950
OtlAt=g 100,000 5& »23] 1,000
OB2 i L AL M
1,500,000 *90% 1,350
O& I M=% 100,000 6 600
OllcHzat B2 J183 M
10, 000 %5007 *90% 4,500
OODlchHzat e M A 800,000 ~5H 4,000
OlIcH7AREARD 28 =& 1,800
Os4=g 100,000 x8& x22| 1,600
O X & At=g 100,000 x2& * 12| 200
301 22N = 3,900 3,900
14 JIEt2 8= 3,900 3,900
Olldi=et 22 28 Ald= 3,900
ol 1,000,000 14 1,000
Ozl+¢ 500,000 »2H 1,000
OR+d 300,000 +3& 900
ogd 100,000 10 1,000
HAIEE(A2) AAXNF(L2=+) 9,000 9,000
207 ARl 9,000 9,000
01 H1E4H] 9,000 9,000
O&FAIIEE NE ZMBIM HE 29
9,000,000& 9,000
Ol REFL S=2FEAMY 180,000 0 180,000
= 90,000
= 45,000
Al 45,000
308 XXM SOIA 180,000 0 180,000
= 90,000
[ 45,000
Al 45,000
18 SII2S0tHer 34 A AS A 180,000 0 180,000
ODINRERL L=FLHAMA(EF LN
0 BLXIDI) 180,000,000 180,000
= 90,000
< 45,000
Al 45,000
ZoH 23 AIZ29 3,788,863 3,077,185 711,678
= 986,100




A 2t
HY: ME25 BE L WD
ol 23 28 AE2g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 87,028
=S 546,148
Al 2,169,587
FEHESMN druFs2 29 35,000 56,200 21,200
307 21201 & 35,000 56,200 21,200
05 BI29Ie3 35,000 56,200 £21,200
Ol IF S DTt
35,000,000 35,000
SEESN drus2t Bdst A 37,500 30,000 7,500
= 15,000
< 6.750
Al 15,750
307 212+01& 37,500 30,000 7,500
= 15,000
=S 6,750
Al 15,750
02 QB AANEER 37,500 30,000 7,500
OHig&+=u=2 &t
37,500,000 37,500
= 15,000
= 6,750
Al 15,750
S3MAIE 2E 862,907 870,225 AT7,318
101 e124d| 388,575 378,876 9,699
M ORNZZ2NSE S 388,575 378,876 9,699
O3 AL 2tF Y| 363,748
oJlza 9,860 7 A2t 17E <271 317,976
Oo=gg=s 317,976,000 *4. 5% 14,309
(@Falz gt 317,976,000 +3.545% 11,273
OFRLES 11,273,0002 *12.81% 1,445
OunE:s 317,976,000 *1.75% 5,565
O4tEe 317,976,000 * 1% 3,180
OZM ALY 22l 34,827
OJlzs 9,860 *5A| 22 *312& 30,764
Oo=gig=z 30,763,200 4. 5% 1,385
(@Faksi--ts 30,763,200 *3.545% 1,001
OFIIRAYEE 1,090,555%%12.81% 140
ouns=es 30,763,200 *1.75% 539
O4tiEe 30,763,200 * 1% 308
Ou =0l 20,0002 18 *30 600
201 er2&| 428,955 447,322 18,367
01 At2teltl 142,117 168,482 N\26,365




=X 1t
HNER3 2E Q A
=2t 23 AlE&2g
SA - B - C9(BH) - NRAY - B2 ol & A
OSE=EsM AL Ix=
3,000,000& 14 3,000
gxsEns 2 oxiz
2,400,000 =128 28,800
SERIEESS 23
100,000 x5%H 103! 5,000
Z3HEZ Ot AN XE2E
100,000 x2Z *123] 2,400
N SHAL HIEEH
1,000, 000 *4JH 2 x23| *90% 7,200
O23HHAIE &
1,500,000 *9H 2*90% 12,150
O=MAIE EES
450, 0003 *3Z*9H 2 +00% 10,935
HPHH = 64,352
O=2sHHAIE (CTV FXIE=
1,400,000 1404 2 19,600
O=x=ZsM ot EA
80,000 *327H 2~ 2,560
O=sHHAIE 12|
171,000 «60H Ao+ 12 12,312
O3 MAIE =ZZA
300,000 +20H 2 %43] 2,400
O3 MAIE Fatx A
315,000 *87H 2 2,520
O2=MAId =83 Fa
500,000 *3I 2 *23| 3,000
OZ3HAIE HAI A5
1,000,000 *5JH 2 5,000
OUHSSTAIZ WALS (j22
200,000& 123 2,400
Oalgdtd 3t LaHelAld B
440,000 x 12 5,280
OZSHER HEAIAE 22|
200,000& =123 2,400
OHHRSHEA ot 22|t =
140,000« 122 1,680
OYHSSHAIZ TAIIAAE EHI18E
== 60,0002 *13] 60
OHHsEdAIZ 2] H)|IEEs2
100,000& *123] 100
OYHsSEAIZ A20ME 2A2|H#S
420,000+ 12 5,040
OFAZZE L=l 5,760
o=2=(28) 240,000 *x9H 2,160
Oger= S 38 400,000 +x9H 3,600
OFMAIE =D SX=
210,000 123 2,520




2A: 2t
HY: ME25 BE L WD
ol 23 28 AE2g (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
02 2224l 256,838 246,838 10,000
o2& 3yl 600
Os=8=22gs 300,000& *13] 300
Ost=e228 3l 300,000& *13] 300
O2SHMAIE &IIR= 138,108
OSEZSM JLAIE
33,000&* 122 3%
Oalgdty 1,400,000& = 12& 16,800
OZ S EH] 2,000,000& *12& 24,000
Oo&EgspD|iga 900,000& =12 10,800
OdlzI 8= 1,000,000& *12& 12,000
Osas|ga 350,000& =123 4,200
OHALZ22IARAEAIR
900,000& 12 10,800
O NS HAIZ 3,426,000& * 12& 41,112
OF¥=sEH 400,000& *12& 4,800
(OF=is=FaSll=-FSEe PN
200,000& =123 2,400
ogz=8d 300,000& =123 3,600
OEYY U BYS 20}
200,000& =12 2,400
OM ZALE 100,000& x 123 1,200
OFFSH, AZcI8M, D8, S4A 3t&
oS 300,000& =123 3,600
O AL s HAZ
50,0002 *4Jl A+ 128 2,400
OZSHAIE LTHAIAE Salz
475,000+ 12& 5,700
O=2SHMAIE dot+=ER3
63,0002 x9IH A+ 12 6,804
OHHISEEAZ HARS
1,300,000& *12& 15,600
ORI MESI IS (S LEZ)
425,000+ 12& 5,100
O=sHAIE EHIHZH|
1,400 1002 E *3IH A+ 123 5,040
O2SHMAIE EHIKRXIH|
9,500, 0002 *8IH*90% 68,400
OSM ZAE CCTV S&lZ
100,000& x 123 1,200
OHNRESMAZ R=E2E8=
400,000& x221 800
OYHSSTAZ AE SAE2H|
4,2883*1,186M 5,086
OHHSSHAIZ B2 M=
2,000,000 *1CH 2,000
03 AL2 | 30,000 32,002 22,002




A 2t
HY: ME25 BE L WD
el oM 2 AIE2E2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ON=SHAIZ J|2H
30,000,000& x13] 30,000
203 =] 1,800 2,000 A200
03 A=A PR FA| 1,800 2,000 A200
O2stii|gtE L=
2,000,000 *90% 1,800
206 M=H| 41,077 36,727 5,350
01 MHZH| 41,077 36,727 5,350
OHNRSHAIZ FE2 BEEXNCU=SS
3,500,000& x224 7,000
OMNFESHAZ WS - ME 15,920
ORMEI SEHE JIE
15,0003 »202|*20H 6,000
ORRIFEEAIZ DILIOIA JI1E
15,0003 *202|*20H 6,000
odzI1E ME 25,0003 #43|x20H 2,000
OwmHel S2 M
16,0002 *62] 20 1,920
O23 AL MeDISE
2,170 ~400H*QIH 2= % 122 x00% 8,437
O2sAIE HEE HEX L HCEIS
100,000 *9IH A+ 123 +90% 9,720
405 KHoHF S| 2,500 6,300 A3,800
01 ML ESFSHI 2,500 6,300 A3,800
Ot T2 ARES 2,500
odal 1,000,000 *1CH 1,000
OkLE=S 1,500,000 1H 1,500
ZHHAIE EH 200,000 300,000 100,000
401 Al HIZ 2018 200,000 300,000 100,000
01 Al&H| 200,000 300,000 100,000
O2=t =8 322 & &2
200,000,000 200,000
gl FAl2el At 17,000 23,200 26,200
== 8,500
Al 8,500
307 212+01& 17,000 23,200 26,200
[ 8,500
Al 8,500
02 LB HAHE L 17,000 23,200 26,200
0Z0IE+ & La2AL(FFE)
10,540,000 10,540
= 5,270
Al 5,270
0Z0IE2+ S Ly2el(228)
6,460,000 6,460




2A: 2t
HY: ME25 BE L WD
ol 23 28 AE2g (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 3,230
Al 3,230
IMKNEEZS M ML RIAE S22 28,000 28,000 0
| 19,600
= 4,200
Al 4,200
201 L2 | 28,000 28,000 0
| 19,600
= 4,200
Al 4,200
02 324l 28,000 28,000 0
OTHHXIAIE RXI&2| 28,000,000& 28,000
| 19,600
= 4,200
Al 4,200
2K E 22 et AL BYX] 134,856 128,100 6,756
| 67,428
T 24,948
Al 42,480
101 2124l 134,856 128,100 6,756
| 67,428
& 24,948
Al 42,480
M IIRIMZ2Z2XSE 134,856 128,100 6,7%
O=I3M erMAY|2 B4(4Y, 128) 134,856
OPIE== 112,772,160& 112,773
| 56,387
& 20,300
Al 36,086
(@1 )= 22,083,000 22,083
| 11,041
& 4,648
Al 6,39
SXNE2SM 24l KA 34,400 34,600 A200
= 17,200
Al 17,200
201 B2 AL| 34,400 34,600 A200
= 17,200
Al 17,200
02 2224l 34,400 34,600 A200
OZXN&E=ZM L&l 7X2tel
34,400,000 34,400
& 17,200
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HY: ME25 BE L WD
ol 23 28 AE2g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 17,200
SSAME SMAIAE 2= 516,000 0 516,000
= 258,000
= 129,000
Al 129,000
402 2IZtA=01d 516,000 0 516,000
= 258,000
= 129,000
Al 129,000
02 QI X2 AL EE(0IHTHE) 516,000 0 516,000
O3tE At 240,000,000 240,000
= 120,000
< 60,000
Al 60,000
O & A 176,000,000& 176,000
= 88,000
< 44,000
Al 44,000
O= AL 100,000,000 100,000
= 50,000
< 25,000
Al 25,000
HSME SMAIAE RS 59,200 66,000 26,800
= 29,600
[ 14,800
Al 14,800
201 el 59,200 66,000 26,800
= 29,600
== 14,800
Al 14,800
02 s3=gHl 59,200 66,000 26,800
ONSAHE STHAIAHE RXE=(EHA S 9
) 59,200,000 59,200
= 29,600
=S 14,800
Al 14,800
HSAHE 2 ZHIAKY 1,360,000 780,000 580,000
= 680,000
=S 340,000
Al 340,000
402 2I2F X201 & 1,360,000 780,000 580,000
= 680,000
= 340,000
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PSER
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oL

e

W H
o
>
0l

M0 2 {0
o1 i fon
=M=

> T
Iz
[0
02

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

340,000

240,000,000

320,000,000

400,000,000

400,000,000

Mo

=

Mo

=

Mo

=

Mo

,360,000

240,000
120,000
60,000
60,000

320,000
160,000
80,000
80,000

400,000
200,000
100,000
100,000

400,000
200,000
100,000
100,000

780,000

580,000

ALY FAG AL

1%

499,000

505,000

26,000

401 AIZHIZL 20

499,000

505,000

26,000

01 Al&H|

499,000,000&

499,000
499,000

505,000

26,000

mhoH

=

5,000
3,500
750
750

5,000

Mo

5,000
3,500
750
750

5,000

5,000,000&

Mo

=

5,000

5,000
3,500
750
750

5,000

Mo

ton
=
il
0t
He
0

ALK

Mo

1,

430,462
450,000
351,430
629,032

1,614,590

N 184,128




A 2t
HY: ME2s BE L M
9l 25T BE L HAKR (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZotR 4 OF 400,000 500,000 100,000
= 160,000
== 96,000
Al 144,000
307 212+01& 400,000 500,000 100,000
= 160,000
=S 96,000
Al 144,000
04 QIZHHAMAIH 2 £ 400,000 500,000 100,000
02024 H== 23R4t OF
400,000,000 400,000
= 160,000
= 96,000
Al 144,000
ot 82 2 27,000 50,000 /23,000
201 2= 27,000 50,000 /23,000
01 AtR2t2lt] 27,000 50,000 /23,000
o=z Xt & 223 M
30,000,000 *90% 27,000
HFFs98d 3,104 3,880 ATT6
307 elztol & 3,104 3,880 ATT6
04 CIZHHAMALE 2 & 3,104 3,880 ATT6
OFF=s9sA 3,104,000 12 3,104
SN Sotrdt 2SAE 400,000 380,000 20,000
= 160,000
= 96,000
Al 144,000
307 el2to| & 400,000 380,000 20,000
= 160,000
= 96,000
Al 144,000
02 2B YA E X 400,000 380,000 20,000
OAIB HRA(MBHR BAAI)
227,500,000 227,500
= 91,000
& 54,600
Al 81,900
oz2dgu (29,8l Jt= )
50,000,000 50,000
= 20,000
= 12,000
Al 18,000
OFFEU(MZ2 RuEstel 22 TR0
122,500,000 122,500
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HY: ME2s BE L M
9l 25T BE L HAKR (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 49,000
=S 29,400
Al 44,100
HS LA 23tR4 S A 60,000 42,500 17,500
= 24,000
= 14,400
Al 21,600
307 @12t0| & 60,000 42,500 17,500
= 24,000
= 14,400
Al 21,600
02 2B YAIHE A 60,000 42,500 17,500
OS2t 2EA =0 JI ROt
60,000,000 60,000
= 24,000
= 14,400
Al 21,600
8 B2 2ESAY 100,000 100,000 0
= 40,000
= 24,000
Al 36,000
307 el2tol & 100,000 100,000 0
= 40,000
& 24,000
Al 36,000
02 2B YA E X 100,000 100,000 0
Ou oto] 2= = =8 AHI0|
50,000,000& 50,000
= 20,000
< 12,000
Al 18,000
OdlEgz 0t ietel & gRott
50,000,000 50,000
= 20,000
= 12,000
Al 18,000
YU ZotR A 100,000 130,000 30,000
= 40,000
& 24,000
Al 36,000
307 lztol & 100,000 130,000 230,000
= 40,000
< 24,000
Al 36,000
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A30,000

N2,176
N2,176

N2, 176

A1,1%
A1,1%
AN1,1A

2,000

2,000

2,000

1,610
1,610
A1,610

A1,440
A1,440

5,760

A 1,200

1,200

MEE
Ofl &k2h

130,000

10,880
10,880
10,880

5,970
5,970
5,970

50,000

50,000

50,000

8,050
8,050
8,050

7,200
7,200

171,600

171,600

ol &rey

100,000
50,000

20,000

i
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12,000
18,000

Al

50,000

20,000

i
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12,000
18,000
8,704
8,704
8,704
8,704
4,776
4,776
4,776
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52,000
26,000
26,000
52,000
26,000
26,000
52,000
52,000
26,000
26,000

Al

fir
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i
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6,440
6,440
6,440
6,440
5,760
5,760
5,760
5,760
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85,200
170,400
85,200
85,200
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M AHAH2HAHI(S23HMD)
&t JI=Z

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OoFaZZ 60,0003 *5H 9« 12& 32,400
202 Ot 10,080 16,800 A6,720
01 =04l 10,080 16,800 A6, 720
Ol (O1=g4l)
20,0002 *14B+32 » 123 10,080
203 AR F=&lY| 4,200 4,200
M 2GS HRFAL 4,200 4,200
OO|=H)25210| ot 350,000& =123 4,200
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M ARIME &S
el dEdE =4 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
H=u=1 23,345,801 22,867,426 478,375
Jl 2,492,334
== 2,601,462
Al 18,252,005
ARIHE &S 20,371,251 20,051,310 319,941
Jl 2,492,334
== 2,601,462
Al 15,277,455
dEM=E |54 NE 14,093,117 14,034,863 58,254
= 2,120,000
Al 1,973,117
HEME | - 298 6,019,541 6,033,777 N14,236
= 2,000,000
Al 4,019,541
201 er2 3| 2,710 2,900 A0
01 AtR2te|HI 2,710 2,900 A190
oY ME ZEW ME
100,000 %1971 *90% 1,710
OBFAMSHEHIS 91 25
100,000& 10« 12] 1,000
203 HR=H| 2,700 3,000 A300
03 A= L2 FAIH| 2,700 3,000 A300
oA M=dAIFA 3,000,000 90k 2,700
307 gl2to| & 6,012,431 6,017,277 N4,846
=S 2,000,000
Al 4,012,431
2 QIABAASRE 4,723,431 4,808,090 184,659
0ESZFI227¢ 2YX L
4,000,000,000& 4,000,000
< 2,000,000
Al 2,000,000
OFFAINF=2 NE A 723,431
OFFA Rl S2X
136,000,000& *13] 136,000
OFFAl StfdH Hated
7,760,000 12 7,760
OFFANHgEH XN
12,192,000& x 13} 12,192
OE=UM=sUHa SN2
351,159,000& %12 361,159
O&=HM=Uz 28X
38,800,000 *13] 38,800
Od=AHM=EU2 28X
19,400,000 *13] 19,400




FA MEUF
M ARIME &S
el dEHE |54 AR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Od=SAM=U=2 28X
3,880,000& %12 3,880
OAMIAI & =03 =8
7,200,000 *12] 7,200
OAlzZig SH0tetENa 28X 31,040
-HI352 E=XIARDIRA SEOteHEE
14,456,000& * 18] 14,456
-HI438] EEAI2UE AX0IIEHE
16,584,000 x12] 16,584
OHEA 24BUS SHX
116,000,000 *13] 116,000
03 M EE2SHIEX 1,289,000 1,200,187 79,813
OFFANHE MRE= 2Z 1,289,000
OoJlzs 617,593,000& 617,593
Oo=¢ 236,801,000 236,801
Og=2Egss 164,408,000 164,408
OgR=4| 13,220,000 13,220
O3] 40,920,000 40,920
O=LHNHI 12,000,000 12,000
OXEE=SANELE 18,110,000& 18,110
Ooger24| 185,948,000 185,948
402 QI2F X201 & 1,700 10,600 28,900
01 QI X2 AL E A (KEMITHE) 1,700 10,600 /8,900
OFFAHF2 ME= 2578 X2 1,700
O0IsEHI0I= 280,000 *5H 1,400
ony 300,000 *1H 300
AXXE Fe ANEEE 300,000 50,000 250,000
308 AHXIHMSO0IA 300,000 0 300,000
13 SI12S0He 4 A AS A 300,000 0 300,000
OAE=E Sttt AIEEE
300,000,000 300,000
EFANZI| AZEHILIAME 6.000 7,760 A1,760
307 elztol & 6,000 7,760 A1,760
04 CIZHHAMAMH 2 & 6,000 7,760 1,760
OHM403] H=AIEI| AEZEHILIADE
6,000,000& 12 6,000
EFANEIRN =B EFS WSS NEHAUS 6,000 7,760 1,760
307 @I2t01 & 6,000 7,760 1,760
04 QIZIHAIAIH E X 6,000 7,760 21,760
ON32al HF=AEINIXK FXAEFSWE
Sstu itz 6,000,000& 12 6,000
AU S U= 7,000 9,700 22,700
307 elzto| & 7,000 9,700 22,700
04 CIZHHAMAIRH 2 & 7,000 9,700 A2,700




2A:
PSR
ool

M=ns
MIXE &S
M2 24 XE

RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
ORIZ7al H=AIZH S
7,000,000 12l 7,000
EF=AMED| HE O 10,000 15,550 A5,550
307 212+01™ 10,000 15,550 A5,550
04 CIZFHAIAIS E & 10,000 15,550 25,550
ORM27al E=AIEI| B2
10,000,000& *13] 10,000
EFAEI HEFUHE=EFUE 10,000 17,460 AT,460
307 212t01™ 10,000 17,460 AT,460
04 QIRHFHAIAIHE B = 10,000 17,460 AT,460
OBl BEAIZI| AHUEZ20S
10,000,000& =13 10,000
BFAMED S0z 5,000 8,730 A3,730
307 212+01™ 5,000 8,730 A3,730
04 CIZFHAIAIS E & 5,000 8,730 A3,730
ON23l E=AIZEI| 2=
5,000,000& 12} 5,000
HFAIEH =3 7,000 8,760 A1,760
307 212t01& 7,000 8,760 A1,760
04 QIZFHAIAIE 2 = 7,000 8,760 A1,760
OF213] FFAIZH HRAHZ+HS
7,000,000& 13! 7,000
EFANEH SZ0HE 10,000 14,550 A4,550
307 212t01™ 10,000 14,550 A4,550
04 QIZHHAIAIHE 2 £ 10,000 14,550 A4,550
ON213 E=AIZH SZE3
10,000,000& *13] 10,000
HF=AIEH BSOS 7,000 11,640 A4,640
307 gIztol ™ 7,000 11,640 4,640
04 QIZIHAIAIH E X 7,000 11,640 4,640
OM173] E=AIZH BtSUE
7,000,000& 15! 7,000
A HAAAZXYZ] 7,000 13,09 AB,095
307 212t01™ 7,000 13,09 AB,095
04 QIZHHAIAIH 2 £ 7,000 13,09 26,095
ON143] HF=AIEH H=HAALIADI|CH
2l 7,000,000 12} 7,000
EFAEH RE03E 7,000 8,760 A1,760
307 212+01& 7,000 8,760 A1,760
04 QIZHHAIAIE E & 7,000 8,760 21,760
OM133] EFAIE SEZ
7,000,000 12} 7,000
EFAMEH & HHE 7,000 8,760 21,760
307 212t01d 7,000 8,760 21,760
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B;zl i“’:'u' dE
A

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
04 QIZHHAMAIH 2 & 7,000 8,760 1,760
O8] HEAIZH X HTH3
7,000,000& *12] 7,000
AU U= 8,000 16,550 AT7,550
307 @120l & 8,000 16,550 A7,550
04 QIRHHAMAIH 2 £ 8,000 15,550 AT,550
ORI113l HEAIZ IR0
8,000,000& 12 8,000
AN S ==Y 2 7,000 8,760 1,760
307 glztol & 7,000 8,760 1,760
04 QIZHHAMAIH 2 & 7,000 8,760 1,760
ON263] HEAZIIXIA S+
7,000,000 *12] 7,000
AU =28 OF2UE 6,000 7,760 1,760
307 gl2to| & 6,000 7,760 1,760
04 QIHHAIAIH 2 £ 6,000 7,760 A1,760
OHMI102] F=AIEHH RAHOFHE
6,000,000& 12 6,000
E28 =2 & AESRAUE K= 3,000 6,545 N\3,545
307 212+01& 3,000 6,545 A3,545
04 QIZHHAIAIRH 2 X 3,000 6.545 A3,545
O5=E d= E A= HE X2
1,500,000& 22 3,000
BFHT=SHHAALS H4=ZH3S 40,000 60,000 /20,000
307 elzto| & 40,000 60,000 /20,000
04 QIZIHAIALE 2 & 40,000 60,000 220,000
OMN192 FFHA IHHAAE MR
=l 40,000,000 %12 40,000
d=gl LIAHAAIN0IE SEL+=AUS 30,000 0 30,000
307 212+01& 30,000 30,000
04 QIZHHAIAIH E X 30,000 30,000
ORMl6e2! =gl TLAAHOIE SEL+D
=l 0,000,000 %12 30,000
X A= AHAIHAEIE 10,000 14,550 A4,550
307 elztol & 10,000 14,550 24,550
04 CIZHHAMAMH 2 & 10,000 14,550 A4,550
ORMI42] 2024 [ 8= AFAl HIAEE
10,000,000& x12] 10,000
AN A= S.10.00 3U3s+7U= 16,000 24,250 A\8,250
307 212+01& 16,000 24,250 A\8,250
04 QIZIHAIAIH E X 16,000 24,250 28,250
ORIzl XXl &= S04 30H3 =02
16,000,000 * 12l 16,000
LYW d= E.H S=U= 25,000 38,800 A13,800
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el MEd=E =54 A3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 25,000 38,800 A13,800
04 CIZHHAMAIRH 2 & 25,000 38,800 A13,800
ORN212] FHUIH)| dEEH==U=
25,000,000& *13] 25,000
3.1&8 =0tEU2 13,960 17,460 23,500
307 @12to| & 13,960 17,460 A3,500
04 QIZHHAMAIH 2 £ 13,960 17,460 23,500
OHMIs8al 3.1 H=E0IUHEUS
13,960,000& *13] 13,960
S=HER0 d=U2 10,000 19,400 29,400
307 lztol & 10,000 19,400 29,400
04 QIZHHAMAIRH 2 X 10,000 19,400 A\9,400
ON23| s8R0 =03
10,000,000& * 13l 10,000
3| d==EU 240,000 240,000 0
S 120,000
Al 120,000
307 @I2t01 & 240,000 240,000 0
== 120,000
Al 120,000
04 QIZHHAIAIH E X 240,000 240,000 0
OHMI52 35I| d=7=03
240,000,000& %12 240,000
= 120,000
Al 120,000
I E=E0 =Sstu =3 15,000 15,000
307 el2to| & 15,000 15,000
04 QIHHAIAIH 2 £ 15,000 15,000
ORMI362l &) =890 =S5 =z
15,000,000& x12] 15,000
S A=AEUE 80,000 80,000
307 212+01& 80,000 80,000
04 QIZHHAIAIRH 2 X 80,000 80,000
ORMI402| &I =AU
80,000,000& *13] 80,000
AE2s JVIR |4 7,180,616 7,177,986 2,630
201 er2 3| 175,631 187,175 A11,544
01 AtR2t2|HI 567 630 263
O2s? d= & =HlUe *s5 8%
70,0002 *9IH*90f% 567
02 s3=gHl 175,064 180,545 25,481
OXY2SEIIR =429 52,680
o= 90,0002 x1S5*122 1,080
OkADtAZ 180,000& x 105+ 122 21,600
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M A=HE A8
el dEdE =4 A (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
Ozl 250,000& *10=s+122 30,000
Ot dEMs2 24 3,000
(OFSPII= 200,000 =122 2,400
Otttz 50,000 128 600
ONZEITZ 22 2 3,840
(OFSPIE=3 100,000& « 122 1,200
OAE=z 220,000& * 128 2,640
OHFZEAARE AIEZR 24,600
OLEAEA (AMHAIZZ)
1,500,000& « 122 18,000
OZOHAAIA (ATHAIEZ Z)
350,000& * 128 4,200
(OFSPIE=3 100,000& * 122 20 A 2,400
oFA=zAEY 2¢ 6,600
OoNIIR3 500,000 123 6,000
Odotr=ER= 50,000& =128 600
OL+ELI(INLSTR) 2< 4,800
OHIIR3 200,000& * 128 2,400
Oyot=ER= 50,000 123 600
OANEMNERS 150,000& * 128 1,800
OSAFE=A(SE2SHEU) 3323
700,000& * 128 8,400
oNz=ga 29 1,236
OoHIIR3 50,000 123 600
O&ot=ER= 20,0002« 128 240
@F=Fal:] 33,0003+ 122 3%
OBEESH 2L (SS2L=HEHU)
150,000& « 122 1,800
Ost=a AW 3,000,000 x65 = 18,000
O=HY A2H(L2, L AHR) 3,630
OaUsSR 1,375& %220 4 x4 233 3,630
O=s® dEXH H=t|
1,5213%6 £ x252*100H~ 128 27,378
O2s® HEXY NSIHAl
60,0002 * 10CH 600
O2s:E dENY EE8=
750,000 = 10CH 7,500
OSSHHBIY HANLRLD
50,0002 «10CH~+23] 1,000
O=4 ¥ =28d R4
1,000,000& * 100H 2 10,000
206 =4I 240,705 267,450 N26,745
01 =4l 240,705 267,450 N26,745
O =7 28E=3 & &l 45,000
Oztar S 255 40,0003 x255+50& 9% 45,000




SN HSDSD
M AlRME &S
el dEdE =4 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZc7 2d¢ & BIIES 30,240
OScdis s 65 800, 0002 65 +7 & «90fk 30,240
OEF =HE3 & &l 23,400
O=k S 138 40,0003 x135+50& 9% 23,400
OHAE=E 2d & FIIES 19,440
OHAE=S S 125
60,0002 *125+30& *90f% 19,440
ONZEIDZ® 28 & FIIES 5,625
OgdJllgt § 53 25,0003 x55+50F x90% 5,625
O AHFE 2 & &bl 18,000
Ol S 105 40,0003 *105+50E *90% 18,000
Ol =F =eES & &l 45,000
Ozt S 265 40,0003 x255+50& 9% 45,000
OLEAR 28 & &l 54,000
OdE S NS 40,0002 x305+50& *90% 54,000
301 EtE N = 6,711,963 6,708,851 3,112
Rzt - 2SFESEHS 6,711,963 6,708,851 3,112
o2sT ¢ (d8) 3,903,165
oz= 64,890,000& 6 389,340
o&= 58,275,000 3 174,825
OZX 55,125,000 x4 220,500
O=ZX 50,715,000& »2H 101,430
OEdioH 41,580,000&+1& 41,580
OFab 68,355,000 4 273,420
Oou= 57,960,000 +5& 289,800
Oou= 48,195,000& 10 481,950
ou= 44,100,000 +35E 1,543,500
Od= 34,965,000 4 139,860
Oou= 51,660,000 2 103,320
Oou= 47,880,000 34 143,640
OHldgds 2ddds 14,400
Os=z 700,0003x 1 *12& 8,400
OAS 500,0003 1 *12& 6,000
OXNE2SEIIR sdlEsE 48,000
Oo&= 300,000 9+ 12& 32,400
O=ZXl 150,000 x8& * 122 14,400
OEdioH 100,000& x 12+ 123 1,200
Oo=2s%T =8l 568,800
Os4ltl 540,000 x79E « 12 511,920
O==H| 35,0002 x79H *12& 33,180
Ozl 25,0002 «79H 123 23,700
O&Xl=&d| 70,0002 x79E 30 165,900
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M A=HE A8
el dEdE =4 A (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
O =I==FS]l 60,0003 79 103 +6! 284,400
(OFIPAESAE 1,000, 0002 *302 %102 300,000
O=JthE=¢ 126,000
oz= 500,000& x6H 122 36,000
Odl= 500,000& x 128+ 123 72,000
ORA 250, 0002562+ 128 18,000
OR4H4 FY HAD
180,000,000& *12] 180,000
oHoliEd"=s = 20,0002 x79E ~ 128 18,960
OdfieldXled & MAHR &t
30,000,000& *42] 120,000
ORZLEPIR YEH=XHE 29
,000& *1,000P*79H 79,000
OXRF2SEIIR NXHH FES 764,338
OEl&A=z 3,903, 165,000& x1/12 325,264
@Fal gt 3,903, 165,000& *3.545% 138,368
OFIIRAEH 138,368,000 %12.81% 17,725
O=2HA=3RE= 3,903, 165,000 *4. 5% 175,643
ONE2E=RE=
3,903, 165,000& *1.75% 68,306
Ot o2 a2 =
3,903, 165,000 * 1% 39,032
OEtd=% Ul=t| 14,000
ogsets S 105 200,000 x105+7 14,000
Os4&S 1= 22,000
Ogs= 563 200,000 65+ 11 13,200
OltetEst s 88 100,000 x85+11 8,800
OEc= lUl=dl 11,200
Ooget=s S 838 200,000& x85+7H 11,200
OZEER II=d] 15,400
Ooget=s 578 200,000 +75+11Y 15,400
OHAER L=l 16,000
ogst=s S 88 200,000 x85+ 10 16,000
OMNZEIIZ R II=H| 9,600
Ogs= 88 200,000 x8E5+6H 9,600
OHMIAIAR TI=H| 12,800
OAES & 88 200,000 x85+8H 12,800
O Ttd=F UI=H| 14,000
Oogset=s 5 108 200,000&x105+7d 14,000
OLEAIAR TI=HI 24,000
OAE= S 108 200,0002 x105+ 12 24,000
405 KHAHF SH] 52,317 14,510 37,807
01 ML ESFH S| 52,317 14,510 37,807




A Hsu=sH
M A=HE A8
A

=&t dE2XHSs =4 AE (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLEANAT SSAte 40,000
osEXE 40,000,000 *1CH 40,000
OZMAAAF S HYI 9,317
O34T 9,317,000& 14 9,317
OUNL=TF =4 =3 3,000
Odgl 3,000,000 *1CH 3,000
JoIHE 54 NA 1,657,969 1,500,344 148,625
) 395,073
= 104,782
Al 1,158,114
ol M= 43t 902,485 867,346 35,139
307 elzto| & 902,485 867,346 35,139
02 2IZHBYAIHE & 282,809 314,005 A31,196
ol HEH=E 28 248 A&
40,000,000 *12] 40,000
ol s7uwd 24
30,000,000 *13] 30,000
OHMI182l &=t =U2 &H
5,430,000 12 5,430
OHMl1eal Oi=8M=U=l &4
4,500,000& 12 4,500
Os=sotIEiiSH=la &2
4,500,000& 12 4,500
OHMI443] 8=ZO0H=SUHE =X
18,000,000& *13] 18,000
ORMI8el ESHMACLHFU2 EX
45,000,000 *12] 45,000
O&=2CHal &It &8l X&
11,000,000 * 13l 11,000
OE=E 238 223 &
10,000,000& * 13l 10,000
oLl 2 54 A
485,000 x8H+5 19,400
OZ=E dEN=s2E usd
5,000,000& 12 5,000
OHMHALEMFN =N XMPIHLAS 89,979
odg2=+¢ 5,270,000& 5,270
o254 7,740,000& 7,740
OF A S A 140,000 7+ 122 11,760
OEE=It| 9,100,000 9,100
OAIt2l=& 21,956,000& 21,9%6
O Xt 24| 1,954,000& 1,954
OZ 4048l 12,600,000& 12,600
O=LH04H| 20,0003 78 20 2,800
OZN k=2 7,422,000 7,422
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: XF0H0|JH|=: %{S A&

X=]

SA - B BRA(SH) - HRA - of v e HIDE2
OSsE=sAEE 3,500,000& 3,500
OJl= 5,877,000& 5,877
03 PIZAHHEE 22X 619,676 553,341 66,335
OF=Al ZOU2IM=F=2 24 619,676
OJlEZ=s 316,307,000& 316,307
O=g 84,551,000& 84,551
OScl=4dH| 185,478,000& 155,478
OSEESAELE 10,040,000 10,040
OJ| g2 3,600,000& 3,600
OMHZHIR =] 3,600,000 3,600
(@011 11,200,000 11,200
Odgr=g| 34,900,000 34,900
A i MHI=ZH3 7,370 7,372 A2
307 @I2to1 & 7,370 7,372 A2
04 QIZHHAMAIH 2 £ 7,370 7,372 A2
OHM102 FFAIEI| HO0HQ! =22
7,370,000& 12 7,370
HFAED] 0 dEH=S &= 7,760 7,760 0
307 lztol & 7,760 7,760
04 QIZHHAMAIRH 2 & 7,760 7,760
ORNI152l HFAIEI| Hoje!l d2H=s &0
2 7,760,000 12 7,760
HFAZI Zoje 2= 2=0= 7,760 7,760
307 @120l & 7,760 7,760
04 QIRHHAMAIH 2 £ 7,760 7,760
ORMI52 FF=AIEI| S0 dEH= E=
=) 7,760,000 12 7,760
BFAEI| HoHe! F20E 14,550 14,550
307 glztol & 14,550 14,550
04 QIZHHAIAIRH 2 & 14,550 14,550
OMI143] H=AIEI| Zoie!l =203
14,550,000 * 13} 14,550
HFAIEI! 02 HOIE=UZ 11,640 11,640
307 gl2to| & 11,640 11,640
04 QIHHAMAIH 2 £ 11,640 11,640
OHMI12al FF=AIZI|l E0He! HOoIE=SU=
11,640,000 x 12l 11,640
BFAEI| =012l EeitiEl 7,820 7,820 0
307 212+01& 7,820 7,820
04 QIZHHAIAIRH 2 X 7,820 7,820
ORM93l H=AIEDI| =012 =3
7,820,000 12} 7,820
HFAIEI! 0 == 4,850 4,850 0




DMsNE

n;
DM A
s

=
=4 A&

: 202 (EH9): ®2)
SA - B SRIBH) - MRAR - BAS A HIDEZ
307 lztol & 4,850 4,850
04 2IZHHALALS 4,850 4,850
ORN3al HFAIED ol =giial
4,850,000 12 4,850
Al E=F0 21,340 21,340 0
307 @12to| & 21,340 21,340
04 GIZHSHALAL 21,340 21,340
OM 148l MXIth BI04 EZ2CH3
21,340,000 13l 21,340
ZXIE E=FO0HQ! A 19,400 19,400 0
307 lztol & 19,400 19,400
04 2I2FSHAL 19,400 19,400
OMeal ol ArEEl
19,400,000& * 13l 19,400
SO MM F A 219,114 213,696 5,418
) 109,857
= 43,600
Al 65,957
307 elztol & 219,114 213,6% 5,418
Jl 109,557
& 43,600
Al 65,957
02 2t 219,114 213,6% 5,418
O SEHFA A B
54,778,500& 43| 219,114
Jl 109,857
& 43,600
Al 65,957
ZOHQl AL =Ht L= 407,880 272,460 135,420
Jl 285,516
< 61,182
Al 61,182
301 2eEN= 407,880 272,460 135,420
Jl 285,516
=S 61,182
Al 61,182
01 Al EE A S(FRNEXM) 407,880 272,460 135,420
OFHe!l AZ=AH 0/ K&
407,880,000 407,880
Jl 285,516
=S 61,182
Al 61,182
ZOoHeIM=EIS S(EENY) 26,000 0 26,000
307 212+01& 26,000 0 26,000




2A:

H=w=1
by

BH: NSNS XS
Celr ZoHedE |4 A (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
02 QI AANEE X 26,000 0 26,000
OEOMMHASHE 2
26,000,000 26,000
dEHs 2d3t 4,620,165 4,507,103 113,062
Il 2,097,261
= 376,680
Al 2,146,224
AT YIS HALY X 2,388,000 1,786,380 601,620
Il 1,671,600
< 358,200
Al 358,200
301 LtENZ 2,388,000 1,786,380 601,620
J| 1,671,600
S 358,200
Al 358,200
01 Al EEHGIS (2 DEXTHE) 2,388,000 1,786,380 601,620
OAEZ=2%} 018 X
2,388,000,000& 2,388,000
J| 1,671,600
S 358,200
Al 358,200
LSS YIS RIS X BHXI 392,868 446,466 N53,598
J| 189,234
S 4,320
Al 199,314
307 212+01& 392,868 446,466 A\53,598
Il 189,234
= 4,320
Al 199,314
02 QIRHEAAIHE X 392,868 446,466 N53,598
O HEMSAI = HHAI
97,479,000 & *42] 389,916
Il 187,758
= 4,320
Al 197,838
OMEHEXNTH NCEBSEE=
2,952,000& %12 2,952
Il 1,476
Al 1,476
HEAUEHSXI A BiX] 194,958 318,905 A123,947
Il 93,879
< 2,160
Al 98,919
307 212t01™ 194,958 318,905 N123,947




2A:

H=Ew=1

P
ARIM= &

HEH =
Chel: MEX| 2435 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| 93,879
T 2,160
Al 98,919
02 QIZHAAAIHE X 194,958 318,905 A123,947
OHZAMEM=XI T HHX
48,739,500& 42| 194,958
| 93,879
T 2,160
Al 98,919
ANZMEX SIS BEX] 32,500 31,598 902
307 QIZt01 A 32,500 31,598 902
02 QB AAIEER 32,500 31,598 902
OHFAIMEMS XA BIXI(HH)
8,125,000 43| 32,500
MEHE 24 K2 344,887 446,780 101,893
307 212+01 ™ 344,887 446,780 101,893
02 QIZHAAAIEE X 344,887 446,780 A101,893
ON3HAs SEEL YEM=US =8
60,000,00024+18l 60,000
0224 EHSTIAD| L TEEIFI| M
RESLEUS &H 20,000,000 *13] 20,000
02024 MEH=s &= d=3U3 &H
3,000,000 *13] 3,000
ON19g EH=T 24 MEXNSUHa =
17,000,000&*13] 17,000
©2024 A At2E2 T HI|E MEZ X
& 1,000,000 *12| 1,000
OHM253 Z2E=SEMF3IEH LIS 0l
=703 &4 3,000,000 *13] 3,000
Q2024 E=ENESHLU &8
5,000,000&*12] 5,000
©2024 AHS""I“’;I“:N' HMEAMS (B2
C,|-y X‘IOH:-/\lt”' §rj|' | %)
234,387,000& *12] 234,387
02024 BFAIMRS A2 /T3S
1,500,000 & *13] 1,500
MEHS AIRIHZSE A 399,984 373,930 26,054
307 QI2Hol ™ 399,984 373,930 26,054
02 QIZtBAAIHE R 399,984 373,930 26,054
O=TIX100 E=HACISHE 2H(AEA
22 213) 6,984,000& *13] 6,984
Q2024 MEHsWa 23
380,000,000& *12! 380,000
OMEM=sELA & WA
3,000,000 *13] 3,000
OEFAFANAEL=ZE K&
10,000,000 %13 10,000




AT HSUSL
M ARIHE &S
Chel: MEX| 2435 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=UM100 F=HEUSHE 22 203,640 200,000 3,640
Jl 142,548
Al 61,092
307 el2to| & 203,640 200,000 3,640
) 142,548
Al 61,092
02 QIZtEHAEE X 203,640 200,000 3,640
O2PIRIZ100 HELISMHE 2
203,640,000 203,640
Jl 142,548
Al 61,092
HEH=SA X2 44,328 100,000 N55,672
307 lztol & 44,328 100,000 N55,672
04 CIZHHAMAIRH 2 & 44,328 100,000 N\B5,672
ONSFHAL X2 5,541,000 82 44,328
FFAHEAY)| dEHs SSEU3 N 20,000 41,285 N21,285
307 gl2to| & 20,000 41,285 N21,285
04 QIHHAIAIH 2 £ 20,000 41,285 N21,285
OFFAEIY)| dEH=s S=8U= N2
20,000,000& *13] 20,000
SESEXNAD| & SE€313)| MEHSHa =X 18,000 19,400 21,400
307 212+01& 18,000 19,400 21,400
04 QIZHHAIAIRH 2 X 18,000 19,400 21,400
ON3e SFSEZXIAD| MEHS HILIAH
3 X 4,000,000& 12l 4,000
ON26al SE=TAAD| HEMS B2
=Xl 4,000,000& *12] 4,000
ORNgel SESTAAD| HEXHF S
=Xl 4,000,000 *12] 4,000
ON3Me SFSEFHTI| HEH=s 20
3 X 3,000,000& %12 3,000
ORNig=l SFSTEAY)| dEXHs e
B2 =X 3,000,000& %12 3,000
SHSH=2 M= X 5,000 9,700 A4, 700
307 21201 & 5,000 9,700 A4,700
04 QIZHHAMAIH 2 £ 5,000 9,700 A4,700
osgHsH=2 M=Eis XA
2,500,000 22 5,000
A HENF =203 8,000 11,640 23,640
307 elztol & 8,000 11,640 23,640
04 QIZHHAMAMH 2 & 8,000 11,640 A3,640
ON11al HF=AEI| HEHS 20U
8,000,000& *12] 8,000
FF=AEI| dEXHE NOIESUS 5,000 6,820 1,820




A MELNS
LI IERSE
Eel: MENS 243 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 5,000 6.820 1,820
04 CIZHHAMAIRH 2 & 5,000 6,820 1,820
ON102l HFAEI| H2H= ACIE=UZ
5,000,000& *12] 5,000
A dEHF §2U 7,000 10,700 23,700
307 @12to| & 7,000 10,700 A3,700
04 QIZHHAMAIH 2 £ 7,000 10,700 A3,700
OMMNE EF=AIEI| HEHF G712
7,000,000& *12] 7,000
BFAYI| dEH= 1= 5,000 5,820 A820
307 lztol & 5,000 5,820 A820
04 QIZHHAMAIRH 2 X 5,000 5,820 AB20
Ozl FF=AE)| HEH= eIz
5,000,000& *12] 5,000
A EMF 02U 7,000 10,700 A3,700
307 gl2to| & 7,000 10,700 A3,700
04 QIHHAMAIH 2 £ 7,000 10,700 A3,700
OM11al FFAIEI| dEHS OF 3l
7,000,000& *12] 7,000
A HENF 20U 7,000 8,760 A1,760
307 elztol & 7,000 8,760 A1,760
04 QIZHHAIAIRH 2 & 7,000 8,760 1,760
OMI102 FFAIE)| HEH=F S
7,000,000 12 7,000
AU EMF Q22203 7,000 8,760 1,760
307 el2to| & 7,000 8,760 21,760
04 QIZHHAMALH 2 & 7,000 8,760 A1,760
OM102 F=AIZH HEH=F 142=s2
CHal 7,000,000& *12] 7,000
A HEMS d=MA 201U 4,000 5,238 A1,238
307 212+01& 4,000 5,238 AN1,238
04 QIZHHAIAIH E X 4,000 5,238 A1,238
O3l BFAFI| d2Hs =12t
ol thal 4,000,000& *12] 4,000
EFANEI| MEHS "HUADE 8,000 10,730 A2,730
307 212t01™ 8,000 10,730 A2,730
04 CIZHHAMAMH 2 & 8,000 10,730 N2,730
OHMI102 FF=AIZI| M= HUAUZ
8,000,000& 12 8,000
AU dEHS Sl 5,000 7,760 N2,760
307 @I2t01 & 5,000 7,760 A2,760
04 QIZIHAIAIH E X 5,000 7,760 A2,760
ORNI92| E=AIEH HEH=S SU2
5,000,000& 12} 5,000




FA MEUF
M ARIHE &S
el MEis 24835t (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
BFAEI| HEH=F HHECIEHUE 10,000 15,550 25,550
307 elztol & 10,000 15,550 25,550
04 QIZHHAMALH 2 & 10,000 15,550 A5,550
ON102l HFAIEI| H2H= =S
10,000,000& * 12l 10,000
BTN HEHSE s 5,000 6,820 1,820
307 @I2t0| & 5,000 6,820 1,820
04 QIZHHAMAIH 2 £ 5,000 6,820 1,820
OMI102 EF=AIE)| HEH=F ST
5,000,000& 12 5,000
BN HEHS OIABHE=HLUE 5,000 6,790 A1,790
307 lztol & 5,000 6,790 A1,790
04 QIZHHAMAIRH 2 & 5,000 6,790 A1,790
ON112l HFAISH 2= DAHEFA
23l 5,000,000& 12 5,000
AU HEHSs 03 4,000 5,820 A1,820
307 @120l & 4,000 5,820 1,820
04 QIRHHAMAIH 2 £ 4,000 5,820 1,820
OM11a FFAIZH dEHE &7l
4,000,000& *12] 4,000
BFATH MEHS HASZUE 5,000 7,000 22,000
307 elztol & 5,000 7,000 A2,000
04 QIZHHAMAIH 2 & 5,000 7,000 /2,000
ON2al BFAIZH dEH=s HA=ZU=
5,000,000& *12] 5,000
AU HENT d=E=U3R 4,000 7,000 23,000
307 el2to| & 4,000 7,000 /3,000
04 QIHHAIAIH 2 £ 4,000 7,000 23,000
OHNi2al =AY dEHE ===
=l 4,000,000 *12] 4,000
d=A HEHNSUE 70,000 82,935 12,935
307 212+01& 70,000 82,935 12,935
04 QIZHHAIAIRH 2 X 70,000 82,935 A12,935
ONI118l HFAl MEHSUHS
70,000,000& %12 70,000
BFAl MEHSUHOZY SHOIE S 6,000 7,760 A1,760
307 el2tol & 6,000 7,760 A1,760
04 QIZIHAIAME 2 & 6,000 7,760 1,760
OHMN2l FFAl 42X SOtE =X
6,000,000& 12 6,000
BTS2 JIE = NEZ d2U=l 10,000 14,095 4,095
307 212+01& 10,000 14,095 A4,095
04 QIZHHAIAIH E X 10,000 14,095 A4,005




2A:
X XH -
o e

=aak

(= amE=
ARIH=E &S
dHeH=s gd3t

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02024 B=SH38X I8 = NEE &
il 10,000,000& * 13l 10,000
HFA -2l A(SHHEXZ) 40,000 43,000 /3,000
307 gl2to| & 40,000 43,000 /3,000
04 QIHHAIAIH 2 £ 40,000 43,000 A3,000
©2024 H==Al 1-211 40,000,000& 40,000
clOl At 20102 30,000 9,000 21,000
[ 12,000
Al 18,000
307 glztol & 30,000 9,000 21,000
= 12,000
Al 18,000
04 QIZHHAMAIH 2 & 30,000 9,000 21,000
OdllOIAANE 2013l
30,000,000& *12] 30,000
= 12,000
Al 18,000
X, FEYT A E=01=HILIAUS 7,000 9,700 A2,700
307 212+01& 7,000 9,700 A2,700
04 QIZIHAIAIH E X 7,000 9,700 22,700
ON113l HX|, H2ALHUH M=0l=HLIA
=l 7,000,000& 12} 7,000
MG HES0ketEal 225,000 225,816 A816
307 elzto| & 225,000 225,816 816
04 CIZHHAMAMH 2 & 225,000 225,816 A816
OSE10FHIIE YN HHES0IEE
tHal 225,000,000 x12] 225,000
XA S HAEE 19,000 24,880 A5,880
307 21201 & 19,000 24,880 A5,880
04 QIZHHAMAIH 2 £ 19,000 24,880 A5,880
02024 [N 28 HAEIE
19,000,000 * 12l 19,000
X LE=SS U2 25,000 32,010 A7,010
307 elztol & 25,000 32,010 A7,010
04 QIZHHAMAMH 2 & 25,000 32,010 AT7,010
OHM17=l 2K LE=SE U2
25,000,000& *12] 25,000
S5 AU §20U= 21,000 27,160 26,160
307 @120l & 21,000 27,160 26,160
04 QIZHHAMAIH 2 £ 21,000 27,160 26,160
ORM212l &5 HEUE &2U2
21,000,000 13l 21,000
= A= 03 7,000 9,700 22,700
307 lztol & 7,000 9,700 A2,700




2A:

(= amE=

M ARM=s dE
Chel: MEX| 2435 (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
04 QIZHHAIAIH B = 7,000 9,700 A2,700
OHMl62l &5 HEMS oF2U=
7,000,000 12/ 7,000
EZIIUE 20,000 20,000
307 212+01™ 20,000 20,000
04 CIZHHAIAIS B & 20,000 20,000
02024 E=2AE8E 2520|102
20,000,000& *13] 20,000
=S UsEHE X 2,499,652 2,635,137 135,485
=S WEMNE X2 2,499,652 2,635,137 135,485
Stul wEetE HE A 111,200 289,032 AT77,832
201 L= 1,200 1,800 2600
01 At22teltl 1,200 1,800 A600
OMSTHIEZIAAAAS A g
100,000& 6 & *22 1,200
308 AXIHMSO0IA 110,000 287,232 A77,232
08 I |&0UeStEx 110,000 287,232 AT77,232
Ostww=SZ A 110,000,000& 110,000
CHEX LA ASAY X 1,106,000 663,000 443,000
308 AHXIEMSOIH 1,106,000 663,000 443,000
08 W=J|20tetEx 1,106,000 663,000 443,000
ot=sHud AFAE X2 1,106,000
Os2s =21y 683,000,000 683,000
O28 2E2sAMs2
423,000,000 423,000
AEE S XN 100,000 100,000
308 XXM SOIA 100,000 100,000
08 W=J|20tetE X 100,000 100,000
oxed S XN (HYD)
100,000, 000& 100,000
AF WA+ 2SS 300,000 700,000 400,000
308 AXIHMSOIA 300,000 700,000 A400,000
08 W=J|20ICHEHE = 300,000 700,000 400,000
OFFFWSLF 29 X
300,000,000 300,000
MESXZ X 90,000 97,500 AT,500
308 XXM SOOI 90,000 97,500 AT,500
08 WEJ|20tetEx 90,000 97,500 AT,500
OAMERIIE XI&E 90,000
OAERXIE Wi+
2,500,000 *367H& 90,000
DSEN LANF(EES) 792,452 785,605 6,847
308 AXIHMSO0IA 792,452 785,605 6,847
10A-2 -7 USHISESH HEHES 792,452 785,605 6,847
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2A:

(= amE=

A oIl |4 XA
ol oI 54 K& (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
11 HAAHIXIE S 80,000 0 80,000
OHMEI 20,0002 x20H x2008t = 80,000
=32 99,500 99,500
201 L2 AY| 99,500 99,500
01 AR2teld| 500 500
O3HHMEE A=
100,000 *5H 500
03 HAr2 G| 99,000 0 99,000
O0l=Ctxl 39| 1,800,000 *557H 1l 99,000
HY 2 (M=S) 74,178 80,639 6,461
el A| 49,074 48,023 1,051
o1zl 49,074 48,023 1,051
101 2124t 49,074 48,023 1,051
03 SRA(RINHS) 22X 24 49,074 48,023 1,051
O=2R% B+ 49,074
OJ122(t=313) 2,578,470 x 18+ 12& 30,942
oz2ssY 128,203 x 19+ 12 1,548
OFM=AH| 140,000 x1H 122 1,680
OZE SOt 1,289,230 *1E *23| 2,579
Oz
18, 180R*30A| 2t 1Z + 12& 6,545
OHdtEa3 96,003 *1H 20 1,940
oz 220,000 x 18+ 12& 2,640
OExA2E 50,0003« 1H 123 600
O&eise 50,0003 *1Z 123 600
234l 25,104 32,616 ANT,512
J|1E23&H| 25,104 32,616 ANT,512
201 L2 AH| 13,464 15,216 AN1,752
01 AtR2elt] 13,464 15,216 A1,752
OJl=2gR+#E=sy|(J1E3])
450,000 12% 5,400
Oo=28I(0I=Al)
8,000& x12F+7L+12& 8,064
202 O4H| 8,640 14,400 AB,760
01 =2LHO4 ] 8,640 14,400 AB,760
O0gI(O1=AYI)
20,0003 * 1232 x 123 8,640
203 PYRF=&Y| 3,000 3,000
M EAN2IHRFA| 3,000 3,000
O©I|F=H(1521015t) 250,000& =123 3,000




Al A

0243 20ilat e 2ettsd ~ U2
M 22
I BPMATE
chol: ZEEY LR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2ttt 6,707,648 10,557,307 A3,849,659
= 705,000
== 524,007
Al 5,478,641
2 AMHAS 6,604,093 10,442,424 A3,838,331
= 705,000
< 524,007
Al 5,375,086
22 698,298 1,185,877 A457,579
= 158,757
Al 539,541
Al 2Z823 29 32,000 32,000
307 elztol & 32,000 32,000
03 P HHEE 22X 32,000 32,000
OFFAl 2&823 =]
32,000,000 32,000
2o 2ALHEA 2S(HEAY) 529,218 529,218 0
< 158,757
Al 370,461
201 =3 29,848 36,815 Ab,967
S 6,432
Al 23,416
01 At2tltl 21,688 26,455 N4, 767
O2st2ZNEA T 22l & 29
4,068,000& 4,068
= 1,017
Al 3,051
O2stAZoiE A 275 2
300,000 *45% 13,500
[ 3,375
Al 10,125
oAseds =¢ 4,120
ORI &AL 2 2 100,000 x9 & x22| 1,800
OAIHEIIAZ 2 2,320
-AAEIRIY =E(2el)
160,000 =2+ 640
-ANSEIIRIR =S (RH2)
210,000 x4 H =2 1,680
02 S3=gHl 8,160 9,360 1,200
O=st2AZoi&Al Il FXE=
6,000,000 6,000
== 1,500
Al 4,500
OZst2Zoi A I B2 2,160




M 22
HH: PPNTE
chol: ZEEY LR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFSPIEei=; 100,000& « 12& 1,200
= 300
Al 900
oelgues 80,0002 122 960
=S 240
Al 720
301 22N = 499,370 492,138 7,232
< 162,325
Al 347,045
11 dAMEEIXIE S 9,000 6,450 2,550
O=22BolEA UE S &2
200,000 *45% 9,000
= 2,250
Al 6,750
14 JIEt2a3 490,370 485,688 4,682
O=2st&Boli At 2SH|
490,370,000 490,370
[ 180,075
Al 340,295
Al ORFZ 2 HIOHIA =4 100,500 50,000 50,500
401 AlZHIZ SO 100,500 0 100,500
01 Al&H| 100,500 0 100,500
OHYRAN HI2Y ORIFH £ HXI(L67
Om) 150,000 *670m 100,500
AOIEZZEA ZEAS 11,906 11,305 601
101 21AH| 4,946 4,825 121
04 JIZtN2Z2XNS 2+ 4,946 4,825 121
OANEZI Al H&TIHEH A= A
Iy 19,7203 x1&x244L 4,812
O4i2E JI2RY= 134
OunE=s 4,811,680&*1.75% 85
O4t=Es 4,811,680 *1% 49
201 et 3| 6,960 6,480 480
02 s3=gHl 6,960 6.480 480
OADIEZAZ Al HATIE S8R 6,960
oNIIR3 540,000 122 6,480
Ox==e=s 40,0002 12 480
=3 S2UA 2E NE 16,589 24,884 N\8,295
201 ZBt=Ehl 16,589 24,884 A\8,295
01 AtR2t2|HI 16,589 24,884 A8,295
o=z & T2 )8 2 13,760
OZAR(€EH3) 11,200
-Jl= 230,000 42| «8& 7,360
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OSetHHE 56,392
O =={P) =R V=t==)
3,263,610« 18~ 123 39,164




M 22
A HZRIZH|(22)
s lIEE2ghl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=< 11,084
-ItE=g 2,640
i< At 40,0002 x1&* 122 480
XHA(38) 180,000 »12& 2,160
-A2tel =& 22,6203 x15A1 2t 123 4,072
-2 = 120,640 »20! 2,413
=25g 163, 1803 * 12 1,959
Og &SIl 3,263,610 x50%*22] 3,264
OdHZAMH| 140,000~ 12& 1,680
Odcl=g 50,000& * 122 600
ou2rs| 50,0002 12 600
JlI=23sl 43,152 56,013 12,861
JI=23Hl 43,152 56,013 12,861
201 fer= 3| 23,832 26,613 A2,781
01 At 2|l 23,562 26,313 A2,751
OZEt=EH| 9,450
OJlzde+asHI(O1=3])
450,000 21 9,450
C=E 14,112
OJI=&Hl 8,000 x21H*72Lx 12 14,112
02 s3=gHl 270 300 A30
O AR EHIFXIHI 270
O K= A| 5,000,000 6%*9(0% 270
202 04l 156,120 25,200 10,080
01 =LHAHI 15,120 25,200 10,080
O=LH04HI 20,0003 x21H+32x 12 15,120
203 HF=AH] 4,200 4,200
M FANEHYERFAY 4,200 4,200
O©J1E2 (252! 0ltH) 350,000&4* 122 4,200




Al A

FA MSAIE0
M WAL Jlgt =4
Rl MEUNE SISHSAME =S EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M= AL 42,735,454 12,112,009 30,623,445
Jl 8,598,900
== 10,032,080
Al 24,104,504
M=AIE Jlg &4 30,811,000 6,030,000 24,781,000
Il 8,508,900
< 9,927,050
Al 12,375,050
e SSHMSAE =3 30,811,000 6,030,000 24,781,000
Il 8,508,900
== 9,927,050
Al 12,375,050
B FAUHFHE HASAE 1,740,000 0 1,740,000
401 A2 HIRL 201 1,740,000 1,740,000
01 Al&H| 1,740,000 1,740,000
QI8 =UMSHEH ASAE
1,740,000,000& 1,740,000
Sl =2UNSHH HEAL 633,000 0 633,000
401 AIEHIX SO 633,000 633,000
01 Al&H| 294,000 294,000
O=U =UMSHEH ASAIS
294,000,000 294,000
02 Zeltl 339,000 0 339,000
O=U =UMSHEH ASA
339,000,000 339,000
0|3 MEMNSSHA ZHAL(HEA) 75,000 0 75,000
401 AlZHIZL SO 75,000 75,000
01 Al&HI 75,000 75,000
ODIHFUSH=SISH REAMY AAILEHES
75,000,000& 75,000
= O=2H dUds2 dEAE 28,363,000 0 28,363,000
Il 8,508,900
= 9,927,050
Al 9,927,050
401 A& HIX R0 28,363,000 0 28,363,000
Jl 8,508,900
= 9,927,050
Al 9,927,050
01 Al&H| 26,943,000 0 26,943,000
OHZE USX AUFISY AL
26,943,000,000& 26,943,000
) 8,082,900
< 9,430,050
Al 9,430,050




2A:

XIS Al 4Dt

M WAL Jlgt =4
el MEUNE TTASAE 2HE COR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
e 2218l 1,400,000 0 1,400,000
OFE U=2H AUNSY 2B
1,400,000,000& 1,400,000
Jl 420,000
< 490,000
Al 490,000
03 Al 2CHYI 20,000 0 20,000
OHE O=2H AUNST 2B
20,000,000 20,000
) 6,000
S 7,000
Al 7,000
F=E2 MSAIE 2l 11,890,626 6,006,352 5,884,274
Jl 90,000
= 105,000
Al 11,695,626
28450 SS9E 28 7,428,106 0 7,428,106
H=AlE2 SS9E A 7,428,106 0 7,428,106
309 HES 6,811,428 0 6,811,428
01 SAL- SHIYHES 6,811,428 0 6,811,428
OAlgae|sE BaAtel|
6.,811,428,000& 6,811,428
404 SAEEH =N ES 616,678 616,678
01 BAt- SHAZ2HES 616,678 616,678
OAlZ2c|SE At
616,678,000& 616,678
2250 MsAE N2 3,192,136 2,195,240 996,8%
H=AlE g2 XA 3,189,136 2,195,240 993,8%
201 er2 3| 3,672 3,378 294
01 AtR2t2|HI 3,672 3,378 2%
RIIRIERYD| Y NS 492
OLA=¢ 220
-Jl= 120,000& %12 120
= 10,0002 *13] 100
(@LNE=3 12,0003 62 x13] 72
OuFH At 10,0002 20+ 13] 200
ORIZ3(+ED AT HS]) F4=E 3,180
oJl2+=¢g 100,000 *7 & x32] 2,100
O=x=it==¢ 30,0003 »7 & +33] 630
O&NclEHsrE 50,0002 x3H +33] 450
307 212+01™ 3,185,464 2,191,862 993,602
05 2IR”tRIE = 3,185,464 2,191,862 993,602
OU===0IM=HH 762,318,000 762,318




O HISAIEL
DOEDF0 MSAE 2l

SEHC MsAE X& (SH9 H2)
SN - B CRI(S]) - NISAY - BES A HIm=S2t
O2E=0NSHEH 892,404,000& 892,404
OLIA==& 2044 110, 142,000& 110,142
OHMAATXME U 25E ST
292,000,000 292,000
OHERCID L 2RI
212,400,000& 212,400
OF=ERE 208,800,000& 208,800
O=CMSHUHILARAAZINE
225,000, 0002 225,000
O08¥E72Y Y EU=72Y
482,400,000 482,400
Hr=23& HUYEX OHL 3,000 3,000
201 Let2| 3,000 3,000
01 AtR2telt] 3,000 3,000
Oli+ 22F AT} 242
1,000,000 & *3JH 2 3,000
A0l 2428t MSAIE i 325,000 3,126,132 A2,801,132
| 90,000
& 105,000
Al 130,000
EF=TEEINE AT H2AHEXSA 25,000 25,000
401 A& B 20HY| 25,000 25,000
01 Al&HI 25,000 25,000
OFEZEHAIIY HHBHTA
25,000,000 25,000
SIHIMIAHICHEI E DTS AIEINE (A ES=2E) 300,000 0 300,000
| 90,000
T 105,000
Al 105,000
401 A& HIZLS0HY| 300,000 0 300,000
| 90,000
& 105,000
Al 105,000
01 Al&HI 300,000 0 300,000
OAl&b] 300,000,000& 300,000
J| 90,000
& 105,000
Al 105,000
M2 XRE2Z Sl MSAE SR 2 5,384 684,980 260,404
HMSAE ZZ2el & 33| 56,000 80,000 224,000
401 A& B2 20HY| 56,000 80,000 224,000
01 Al&HI 56,000 80,000 224,000
OMSsAE =ZF2el ¥ 2 E|
56,000,000& 56,000




2A:

XIS Al 4Dt

M ZDSFQ MSAAE 2l
el OIS HSMOR sl MSAIE ST (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HFAIE 2 889,384 604,980 284,404
101 @124H| 39,760 36,041 3,719
M ORNZZE2NSE S 39,760 36,041 3,719
O=z0I=HEsE 24clel=H 35,739
oJlzs 78,8802 x2H 282 8 35,339
Og &SIl 200,000 x2H =13 400
OZ0I=H=SE 2cls 4UHEE |22
g3 4,021
o=tz 35,739,000& *4. 5% 1,609
OHBEE = 35,739,000 %3.545% 1,267
OFIRYEE= 1,251,0002%12.81% 161
(@ME=L-t=Y=d 35,739,000 *1.75% 626
OttEs= 35,739,000 * 1% 358
201 er2 3| 33,999 39,000 /5,001
01 AtR2telHl 3,679 4,000 A321
OMSEAIE 2l E2= MH 1,800
Og=% 50,0002 54 2 *4 2| *00% 900
OetuiEt JI= 200, 0002 *52| *90fk 900
OAlE= FIIHEEH WF
300,000 *1 300
OAlEg2e| =AM 450
OA=EES, JIISH, JIH 28
50,0002 *35*90f% 135
o5 XNd, gdd 70,0002 *55+90% 315
OMSAIE 2el=3 1,129
O] SHMSF(50L)
1,450 x1000H*90f% 131
O E HEX
40,0002 *102} 2+90% 360
O&A, & S B3LE8
5,000 * 105+ 12«00 540
O] SMSE(750)
2, 1702 500H*90% 8
02 s3=gHl 30,320 356,000 24,680
OMSAIE AIEEHISAIHI
20,000,000 20,000
O=0l= HE3d 2SS &JIesS
350,000 * 122 4,200
0=zl HE5sd =2
400,000 128 4,800
ONMSAE WSREFES
1,000,000 194 A 1,000
Oll=Jl = 1,509 2002 | & 320
203 HR=AH] 1,800 2,000 A200
03 A= PR F&IH| 1,800 2,000 A200




2A:

XIS Al 4Dt

M ZDSFQ MSAAE 2l
Ciel: OlNZ Z9MOZ Gi= HMISAE SN2 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMSAIE 22| d2=x
2,000, 0002 *90% 1,800
206 M=l 25,863 3,642 22,221
01 M=4l 25,863 3,642 22,221
ONM=EAIE 22IES 2,070
OHi=elE, =328 UE S
100,0003 x105+90% 900
O3¥ epdE =2, 3+
80,0003 x105+90% 720
OU=Jl 23, &71F
50,0002 *105+90f% 450
OXA=LMSHE 2E & 28 223 23,793
Ooz2L 11,0002 10090 *3H 2 3,300
Ooglnt 11,0002 *50 JH*30H 2 1,650
=50| 13,2002 %30 IH*3H A 1,188
OdarzE 242,000 *30H A 726
Odlex 462,000 *30H 2= 1,386
(OR=EN)] 39,6002 *5IH*30H A 594
O7gRE 77,0003 *39H 2 231
O 77,0003 %3 2= 231
O&FSZAFEHED| 440,000 *30H 2= 1,320
O=258J| 352,000 37K 2 1,056
OMSH 770,000 %20 *37H 2 4,620
O =5 AlA 99,0002 *2IH*30H 2~ 594
o2szi 55,0003 2 JH*30H A 330
Odilel oLy e 55,0002 x5 IH*30H A 825
OF= 260,000 *30H 2 780
oxgse 154,000 *30H A 462
OB+ 10,0002 %150 H*30H A 4,500
401 Al HIZL R 0HbI 317,000 318,000 1,000
01 Al&HI 317,000 318,000 A1,000
OMSAlE SN2
9,500,000 6K 2 57,000
OSHMSAIE FAE+
40,000,000 *4JH 2 160,000
OMsAIE ZIItdEd 70,000,000 70,000
OXM=AIE AlSEE =4 SAt
30,000,000 30,000
405 AHaHE S 470,962 206,297 264,665
01 AL =S F = 470,962 206,297 264,665
OLLEXUMSHE AFRII 70,252
O+=ZEHY 200,000 * 1374 2,600
OB A2kt 50,0003 *37K 1,850
OBEMHHI 300, 000& * 12K 3,600




2A:

X XH -
o=

XIS Al 4Dt
Z===2 MSAE 2

el OIS HSMOR sl MSAIE ST (cro|: M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

OoEx% 300,000 %1514 45,300
OBg= 150,000 = 10H 1,500
Ot & 180,000 *7H 1,260
O0ISEME 200,000 *7H 1,400
OXHESX 300,000 «9H 2,700

OAtRAZI20I(2HES, 700)
279,000 +82} 2,23

OMSAILLO(RHES, 80)
242,000 =8 H 1,936
OTA+ HZEH= 46,0002 ~2JH 92
OOttt 12,000 +6H 72
OZgE 140,000 6 H 840
OgiII2H 660,000 *3H 1,980

OAIRAI0I(2UESR, 700)
229,000 =2 458
O~ Xt HEE= 41,0002 ~2H 82
O11 & 375,000 *1H 375
ONEelA 125,000 *1H 125
OAEQT} 50,0002 *1H 50
O3elA 800,000 ~2K 1,600
OAIHE R 200,000 *1H 200
OIHE=LUMSHE AtFIOH 75,498
OgE Xt 140,000 *22H 3,080
OBO0IA X} 50,0002 *93H 4,650
O3lAt 800,000 ~2H 1,600
OXIE X 200,000 *1H 200
OgiII2H 660,000 *4H 2,640
OZ2U43I2H 500,000 1K 500
OXHESX 300, 000& *157HK 4,500
O Xt & 180,000 = 134 2,340
O0lsgneMe 200,000 13 2,600

OAIRARIA0|(2HIES, 700)
279,000 * 11K 3,069

OAIRAZI20I(2HESR, 700)
229,000 *3H 687

OAIS A0 (2HESR, 800)
242,000 *6H 1,452
O AHBE= 41,000 *3H 123
OOttt 12,0002 +6H 72
OB6EHHEI 300,000 «6H 1,800
O1= 375,000 *1H 375
ONEelA 125,000 *1H 125
ORISR E(HXII) 300,000 * 151K 45,300




2A:

X XH -
o=

MSAIED
ezl MFAIE 2
ECER

cHe ot |RH2Z ot MSAIE X2 (Cte: M
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

OMSAIZIS0I(ZHES, 800)
293,000 *1H 293
OTAZE= 46,0003 *20H R
OSU=2UMSHE AIRItF 100,851
O2gE Tt 140,000 * 13H 1,820
[SIUEE P, 50,0002 *80H 4,000
OE Xt 200,000 7 H 1,400
OAIHAEH) 456,000 *3 K 1,368
OAMIHOHE) 353,000 & *3 K 1,089
OAIHAIH) 420,000 3K 1,260
Ogx3t2H 660,000 *4H 2,640
OZU2t2H 500,000 *1H 500
TEEoL 300,000& * 107K 3,000
O0ISRE(HXII) 300,000 x228H 68,400
og g 180,000 «8H 1,440
OolsgugMe 200,000 *8H 1,600

OAIRA2I0(2UES, 700)
279,000 x4 1,116

OAR ARO[ (2HIESR, 700)
229,000 *4H 916

OAIRAZI20I(2HESR, 800)
242,000 *6H 1,452
O XNHBEE 41,0002 *37H 123
OOttt 12,0002 +6H 72
O121= 375,000& *1H 375
OEelA 125,000 *1H 125
O6EHHEI 300,000&*17H 5,100
O3l A1t 800,000 *2K 1,600
OAIHERE 200,000 *1H 200
O212d 300,000 «3H 900

OAIRA2II0(2HES, 800)
293,000 *1H 293
OTRZE= 46,0002 *2H R
O4l7 ZLHSHE M AR 112,959
OB =H 1,000, 0002 *12CH*30H 2~ 36,000
O2E Al 162,000 * 1201 *37H 2= 5,832
ODVEe0IE 15,0002 % 12CH*30H A 540
OZFHEXIHI 10,0002 * 12CH*30H A 360
OAHZLIE 280,000 x 1201 *30H A 10,080
OB K= AR 4,180,000 *1CH*3IH 2~ 12,540
OF [[YpSEXS] = 550,000 *3CH*3IH A 4,950
O=BAI| 550,000 *1CH*3IH A 1,650
ON=Z& 37| 139, 7003 *1CH*30H A 420




O HISAIEL
DOEDF0 MSAE 2l

OFS HeHOR BI= HMSAA SN2 o &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OYan 480,000 *1CH*3IH A 1,440
O&BEAD| 131, 00024 2CH *30H 2 786
Oddgld 940,000 *2CH*30H 2~ 5,640
OgHI&™ HXIN
39,000 *2CH*3IH 4~ 234
OxExg 329,000 *37H 2 987
OCIHHUE 3| 500,000 *15CH*37H A 22,500
Osladga)|
3,000,000 *1CH*30H 2~ 9,000
Odl7 ROHFHEH ML SHES 106,402
(OLEN=2=Y] 495,000 *30H 2~ 1,485
O=A 308,000 *30H & 924
O =z& 352,000 *30H 2 1,056
o220 1,045,000 & *3H 2~ 3,13
OOt ZAILE (£=¢
2,805,000 x2JH*30H A 16,830
OAIZLXEIOIH 1,540,000 300 & 4,620
Ot 8 2EH (PVC) 825,000 *30H 2 2,475
ORYZ) B 28H(PVC)
825,000 x30H 2 2,475
OoAB== 2 (P.V.C)
825,000 *30H &~ 2,475
OE=7| 275,000 *2CH 550
ODLAHED| 880,000 *30H 2 2,640
Ox=sE I 1,650,000 *3H 2 4,950
OHFEZOIt 484,000 3 300 &~ 1,452
OIS E XI= 310,000 37 2 930
OZ M 230,000 *30H 2~ 690
ogdg st 605,000 *30H 2 1,815
O==hsE LD 19,300,000 *39H 2~ 57,900
Odl7 IS 2A CHNES 5,000
ONAM=SI & 228
2,500,000 *27H 2~ 5,000
HY2IZHI(HMSAIED) 33,828 39,934 A6,106
=234l 33,828 39,934 26,106
J|1E23&| 33,828 39,934 A6, 106
201 B2 AY| 17,412 18,934 A1,522
01 AtR2telt] 17,232 18,694 A1,462
OJl2gPaA (0 Hl)
450,000 x 16 *90% 6,480
O=HI(01=&dl)
8,000&x16H+7L*12& 10,752
02 2224l 180 240 260
OAHOIZTV =t Z 15,000& * 12& 180




2A:

XIS Al 4Dt

M HYRAZHI(MSAIEL)
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 11,520 16,800 25,280
01 2LHoIH 11,520 16,800 ~\5,280
OJl=2Z24| 20,0003 x 162 +32 x 12 11,520
203 HR=4Y] 3,600 3,000 600
M A2 LIFLI 3,600 3,000 600
O©J1E2 (202! olatH) 300,000 * 12 3,600
308 AtXIEHMSOIE 1,296 1,296
13 S [2SOHe & EAS A 1,296 1,296
OtIBF=E 18,0002 «6I= 12 1,296




Sel: FFAg0=E 23 (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
o2t 14,222,666 14,940,547 AT17,881
7| 61,970
[ 270,000
Al 13,890,696
AIRIO| =3t EAH =2 o322 X4 13,926,178 14,642,127 AT715,949
7| 61,970
= 270,000
Al 13,594,208
e=ESNE[VIES == 12,166,409 12,524,573 358, 164
N[ ES=ReIRL] 10,929,523 10,615,702 313,821
301 YBHE XS 10,929,523 10,615,702 313,821
20lsce - 2S2SENS 10,929,523 10,615,702 313,821
OAEOIEE o124 10,688,277
oJl=a 7,461,664
—CHYI & (12 W)
6,250,00091 +4% * 122 300,000
-SYAT Y AF (63 8B5S AY)
4,183,5002 4%« 122 200,808
—AACR(73 1752 M)
3,439, 20024 x37 24 122 1,527,005
~XHA (83 1852 MY
3,152, 10021 x392 122 1,475,183
-UBhCHRl (93 1852 MY
2,868,60024 1155 * 122 3,958,668
oa3 506,806
-y24g 7,161,664,0002 *1/12+50%+23] 506,806
oxg 1,129,740
SIESY 154,080
EN 40,0002 * 118 » 128 56,640
3. PE 30,0009 02 * 122 33,120
S 70,0002 +60% * 122 50,400
AITHHA 10,0002 4%« 122 5,280
- EHI 20,0009 36% * 12 8,640
-S4y 50,0002 %199 x 183 179,100
-tseinay 457,560
SEAME U oty
280,0002 4%« 122 13,440
ST 23000024 x3724* 122 102,120
- pe sl 20000024 %3924 122 98,600
- Yol 18000024+ 115 * 122 248,400
~REH At 339,000
SEAME Y oF
300,0002 *4% * 122 14,400
= 20000024 +3724* 122 88,800




FA 202
M ARI0 A=E FH =2 O3t &4

Sel: FFAg0=E 23 (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
- AR 150,000& x30F 123 70,200
UBCHR 120,000 * 115 * 122 165,600
OB UZA| 140, 00024+ 199 122 334,320
O EEIH|
7,161,664,000 *1/12+60%*23] 716,167
OLEY =XNHE 29
1,000 *1,000p* 199 199,000
ONECETL=E
7,461,664,0002 *1.75% 130,580
OABISE HlASR 021t
1,000,000& « 10~ 12& 120,000
OANNEES b2l
7,161,664,0002 1/ 12%86%=+1/30+7 119,759
OALREH ARI2I2R4Y
11,3103 x 12 +30Al 2t 128 48,860
OS4=R4g 7,000
ORZ+g 1,000
-=ord 100,000& +5= 500
L 100,000/ +5% 500
OBZ4Y 3,000
-msrelc 50,0002 103 500
-=orH 50,0002 *30= 1,500
L 50,00021%202 1,000
Ogre g 3,000
~REEH5E 015t) 100,000/ 458] 500
-2 BEH52T2) 200,0002! 53] 1,000
-RgH(r2 =) 300,000 #52 1,500
ONEUEHS F0Is=4g
3,217,000 x68%+*1/2+60 2«14 65,627
golsd 243t 469,952 632,097 A162,145
201 ZEet2& ] 159,907 212,342 ND2,435
01 AtR2telbl 138,407 188,142 N9, 735
OAEIEE 25| FMLE
100, 000& »7H 23| *90% 1,260
OAEEE 2 e L B es|
R E= 20,000
SN E 400, 0002445 +4 4|+ 12] 8,000
@FSPIRCES 400,0003 *5F 4= I+ 13 8,000
=AEE 400,0003 *5H x2Ct X+ 13 4,000
ONENEE DS A 2,200
Onlse & DS LAE
400,000 *4=] 1,600
O Er s DT YAIE
300,000& *12] 300
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2A: 02"t
Mzl A|QIQ] 88 EA =2 =22 &4
ool HEARNES 29 (crel: g)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OEHaEt ZHOAH XIS XL, S, Al 24,980
—gHECE X3 Kol A 1,500,000 & x2&8 3,000
—SECH CHRIOI A 785,000 284 21,980
O=ch ZHOIA 104,500& x50 5,225
O3HolAal & O|IXIMIE 11,664
OmEeter Bool4 HiEt
12,0002 x80'H * 13| *00% 864
O&E ZHOIA MHIE
12,000 x55E *4 35| *90% 2,376
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